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Unit 1 EPNEEIEEINESEE N b ORSEIN p. 13

Check Up

1 oA &=

2 (1) When (2) while (3) before (4) as (5) As soon as
3 (1) is over (2) she died

4 (1) while (he was) playing tennis[while he played tennis]
(2) until the rain stops

5 will graduate—graduate
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1 (1) L= 3E0M S3HE BHM HES He A2 E0L6IHK| 4=t
» while2 & 714 o] FAlo dojd wfj 231, ‘~3}
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(2) I HA 2FAHE O =20l0| 2 w7ix| 7 |CHRch
» until ~& wj7}x]
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52k
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(3) 19| EX} HIAIXIS BEXIOIR} L= HES FiCH
» as soon as ~SFAuRA} ()

(4) A =71E0| Efo]et2 m L= & Ao|ULCE
» when ~& off
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(6) S2I7t YZF HOIAS WRE L= 2| 7HE &gt EI7RA01.
» since ~}F 0| %2, ~ TRE (E2)

(7) M 2T A u| Aot EA17| ol 7HR kA X|Ek
» before ~5}7] 7o

FIS0| SECh(EF0| Sle S EPHE =R

(2) B0l Lt= St AXE 2S0i2h (7|25 SXIX| 02k -4 ).

(3) H7| Mol HofeL@S O 2 17| Mol & Mztstah—Ag)
» as ~3to] ukak, ~3} uj, before ~3}7] 9

(4) AlZto| X| ol w2t g412 11 AlnE 4 ZLch
» as ~& uf], ~Slof wlg}, since ~3F o] T2

(5) HI2 20| SO{7IXIOIX} Li= BEHS0| ZAS| Wit 22 UUTH
» since ~3t 0] &2, as soon as ~FAFIIR}

3 (1) &t =0 Xt =stw 2t S0l St

> afftert= AAARE 20|31 B o Tt FLAR & AQIck

(2) 249 =5 0|22 2H0| X|RtCh =147t F2 X| 21H0] X|&{Ch.
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> since= HAXALR & 0|1l HEALR =
ol + EAL,E Fo 24l Hck

4 (1) » 34 FHo|B & THEA}+ o] + TALO] LA& A Hr
A4k while, F0li= he, AR play<ld] AR 573t
Aol Yot Yoju & TAL LAY 2 FHrt
(2) » =4 Ho|m & &b+ 0] + TAL,Q] 2A|2 2 FHo
‘~8 Wi 7h2] = until. AJ7FE] FAPEO| A= o] U A
AJA| 2 LRIt
5 A O A7 %S & AslolLi?
B: Z%otH JEH & A=lolof.
> AJ7Ee] FAEo|| A= nlef o] A AR AR R UERHC

2olth her death=

2ol Zulo| RAIEZ OlmE A
Check Up

1 oM &=

2 (1) so he can't play tennis (2) that | ordered another one
(3) of homework

3 (1) because (2) so

4 (1) He is saving money because he wants to buy a
motorcycle. (2) Her car broke down, so she took a taxi.

5 (1) ojAlist 32 ¢S (2) such—so (3) because of —because

1 (1) ‘E0| AEZ| 32 iR ESsHA LIE SRICL

» so ~ that ... 09 ~3}| 4] -3t}

(2) R2l= =7 WZ0l| MZ2{0f Stct
» since ~ W&o

(3) M7t i< £0tM R2|= 8o 2 Ltz o]k
» such a(n) ~ that ... v}~ ~3j4] -5}t

(4) F%7| W2l L=
> as ~ o]

(5) SAI0| Z5] SloA R2l= A
» 50 12| A

utseet 22| miIkE YUt

gstal ¢ Zojct

2 (1) 2ilo] E2i%7| 2o 2= HUAE & 4 giCh
» because + ¢l so+ A1}
(2) 1 2=0| 0h2 HJACE T2iA L= E SHLHE FE]UCE
» 80 ~ that ... 1j-& ~3jA] ---3}c}
(3) A7t U7 | Wh20i L= Foil A0{0F St
» because + A =because of + TL(*A}, EA}L EEAD
3 (1) A28 A2 B0IM o= A o E0lstL?
B: L= A7|E &717| 20| 7422 o Z0}aH.
> HIZE Fofl Qlo] 1ot Qlo. B 2 because7} UUITh
@) A: 2l B2
B: &K5t= 242 U0IM MayQ| 242 H7io].



> RIZE Foll 237t 2 B2 so7} LItk

4 (1) = 2EHOIE Aln
» because + g2l

7| 20 =2 221 UCk

(2) X7t 1F LiM Dld= BHAIE ST
» so+ A1}

5 (1) J4= M2 97| 2o =20| & 22

> as ~ T} o]

(2) 17t SO E i 2| HelilM f2l= 25 olshe 4= giCh
» 50+ -8AH H AL+ that 0] 17, suchs Fof WA} 91
.

(3) MES =2tM L= B2 Jojof Fich
» Tbecause of + (B}, YL, SHADQIE Ho] ghonz
of 2 wjof 3},

SIX|z BEct

2 (1) it doesn't rain (2) so that she wouldn't wake her baby

3M®E®E @A OB .G

4 (1) Though[Although, Even though] (2) unless you go
(8) as long as

5 (1) you'll touch—you touch (2) gave up—didn't give up
(3) ofMHSH 2 SUS

1 (1) 2= HAE SX|H BAIS Bt Zofl & Ao|ch
(2 1< 1—43” 2 0 22E Z0|X|2h & 2SStk
(3) 27t ofC|Z ZX| AZE £ UEZE L7 X|=E 7S
(@) 22| 22E2 U7t d=al ot= o Li7F ol A2 H=X| 24
SIAIX| =Lt
2 (1) O|H FZof HI7t 2X| 2oH 2= TS Z Ao|Ck
» unless=if ~ not
(2) 2= 07| THRX| == £E3| ZAACL
» in order not to ~=so that ~ not
3 (1) RAS 7E7HX] e Td= RE Aol
(2) 2= T -] 2oty | flehM Fals| 3Rt
(3) 1td= BAh= OFLIX|2H CHE Al S S S=Ch
(4) 247t X oto| A= RIS Cf HOH B Zio|Ck
(5) O12IX|2t 1= O XS U= HiOICH,
(6) 1= OFRE REEE XHAO| AFE &7(2{1 Lt
4 (1) June2 SOl Ha| Ho{MA At U= AT 2ol =X &2
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» = B Zlo] OFH 2 o] %

112wkl ope] bt

(2) 7t2t Z2{H L et 8l 27,

5

P B 84 29 FLAE o]k B Hof ohi
g wizto] A 7ol =& if ~ not2] 2Ju]?] unlessE A&},
270] BAPo A ujgjo] dw FY AJRE AHE unless
you go& 3c}(=if you don't go).

(3) 2&3] slizt. J1={H of7|ofl HE=x ECk
> I R UgAF 2719 HEALE ol gafof sHt] Hizto]
A 7§o] =2 as long as7} &gttt

(1) X 7HE R2|E TEX|H HL|Ch
> 2700) BA AL vlele] U ) AR e,

(2) I= AIiSHX|CE X7 |2 BE ZL7[GHK| SLULC
» Even though+ oFH 2] H<L&Ao]| 22 gave up failed?}
g7 $259) ejn)7} Eofof g,

(3) M2 A5tz ot Liol= ER23IX| 4Tt

I Practice Test msl

1

1 (1) If (2) until (3) while (4) so (5) While (6) Although
(7) after
2 (1) As soon as (2) since (3) as (4) as long as
3M@@R1EB D@ @
4 (1) so hot that it melted (2) such an interesting webcomic
(3) As long as

5100@00B @ 6 (1)@ ®®(@3)®@

(1) I Aol 2OIX|H aRS CrAl 2 HLI?
> Y-8 ~ohde fujol B If7} gyl

(2) I50| YAl 0|2 S B2 Wi7IX| g 7|ck2of BHLct,
> U8~ mi7hA'e) ofw]o] 2L untilo] &yl

(8) 2= sls Esthi HHHO| 242 S M= o Zelct.
> YA~ dhe 9] ofw]o] B2 whileo] &gtk

(@) AAZE 2 LM L= AlZte 22ct

» so+ 23}
(5) I4= melof = St O TOHL|AEES TH P BSICE
> Y84} ~5= EQFo| = 2 Whileo] gttt}

(6) 1ESSS Laj Ho[X|oHa) 22l 4 Qr,
» W24} ‘~olA)ko| B & Althoughr} &gt}

(7) 2= 2o 2 7t 50| 0] HAIX|7} TRRHCE,
» Babdo] AR AAQl Ao Wol RAPES] ygo] W
A oo Aol B2 after7} Lurch.
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1) June S 240l ZF=dI= BRIl 74K =ch 1 41| Ol 82 722 2AMWMAO|A Zotel Lolck Aeiobt
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> % 40| Lfgo] 2 g o] RH R Mgl ‘'] HA) ZANHRAZ WS 07| Y20) 1 EAIS T £HS WA E D
g, 0F22 Jfpto| S5t L2 IO IRl 2o HOFRCt
o] Qo ~ =7]
(2) 'Ee X0l A Ha| Hoix| 7| w20 Zfof =Qlct, ’tslnf%e;i;l‘a%id | ke ~ o, she=zjdo}, the
 H1ZE 7k 1ol St R wgkol "ele) W4 Aph o cymEmEe
g, 2 &4 | Matto] SU MaTlo= Soptain & f ofsete] Fol0| o
O Z L= A2|FCE “GA0| 2220 S0{7HH o7 2t Zicke
(4) SRl 7P 22 2 TIIK| 747 10f QACH o g:ﬂj;'jp,,wl Ol*mm 'ia‘;‘: ;ZQPW O[D*WHE} j; »
> Y184} ‘~aF w7 o] 2 & Hl7ko] = untilo]Lt tillo] orgict, ato] 2Lt H[olot
1 ROl 0] SOfICIE] Xp7| B G2 K7t Lot & AR,

(4) L7t IS HD S mf U, ZOoHHX|7F EESHECH » If mkoF ~3tehd, he=2}m}, does=goes with me
> W84~ o] B 2 HiFto= astt wheno] dglth

4 (1) > 5 ~3A --Sfrk so ~ that .. HOIRI2! o] 0l THE V| AT e Solo] 1
(@) » W ~3|A] -3tk such a(n) ~ that ... (AE[QFH]: <lEl Bt | :L%’DJ% 2T, :L_EM 22 ol n80 (e
Yol| A== whah) Rof BIE) EREH 4 3 TR
> @ F-3 RAPE) o] rg ojrn g Halo] ohjz} o
(8) » ~3}+=3t: as long as 0] ALApt o] &)
5 () O2L82 7|=2 B 20 iRl Sk 4 3M | ST OHBS DIRE IsA AN 2R Zoll maT, 8
@ G2 M7t LIS T7HK] 017 |M 7ICH0F BLIC. B &S AZahH DS 220 S0 BIZHIR. Bt BE 9US
=ES AM L= OF 42 AlZI0] 913ict oF 21 0|1 HIZ N ELICE TIR7t SRE E5HKI0IRE 285
» ® Tbecause + ¥Q1 0|t Tso + A3}, =47} Eojof gt Q.
because—so » @ o] Zo)|A] as long as= Z7'0] ofle} 7|7FS el = 2
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> @ AZEE] FAPE o A= Wl o a‘—% A AAI= LA 5| oJatatict
oA vlghel 2 vl A2 Lefaiet. go—will go - Rizkol = oF £449) safes} v = dangerous7h i,

(8) ® L RHE 7|Ct2|HM MES HUCE
@ SHIE SHX| Q0N L= MMEMN Alt=RICt

6 sli4l | o A2 OFE| 'EH°' o H2|7} SHA| AIct. 30THLE 40CH
THK| MIX| 4= AFHEE QAT FE 50CHLE 60CH7H 2 W7EK| MIX| B

9 ore =l 22 oplol Al ABES. 2. 2 e S0l LIS 2 g
> @ Tso+ Aait Tbecause + ©y £A7F Hofof e QoA Al Solelrt s Lol Algahi Qo 2 Hiztel
so—because age7} orurt),

6 (1) - 1= OIS TE 07l0] I2UC 7 A1 “SCiof Lf QS B2 4 012,72k SueZt 2L, “Fof
e E22 0| FHM MES =T, = HAZ ET6H= O 5120] 2A1Z7HK| ZAB|R.” L= Mot}
>~ O|FR S~ wj2of'e] on| 2 2ro= A sinceo|T. “ZIO| S0LRH L2 mESHA 14t T XIS

(2)  H7t Bl SOt K| BAEIS SHIFAHR? > Bt o) 9 5| 23|47} Elojof SR Tso + @gAH B
¢ 3 &2 o7 Qler 10| AT E HEE A2 Sk ok At that, 725 A8 k.
> BREI I, ~ e of ofnl 2hok= A2 whileo[H, 8 sl | £71= of2iole] A Hi 10| ZELICL IS0] $t HHojel 2
(3) * Brad= 0|7t 220 %40} U2 W MCHEO] FRACE = 222 52 & ULE Yo Ltz Ao SLELICE o222
o |7} 23T AEIZ f0|Q)0] 5H= 74 ZtoL| 8 5 . EfopZICY. 0|0F7|E 210f =0{ XHAS0| THo{Qt SKte| Az| Zte| XtolE +8st
>~ '}~ wlEo|'] o] o]z 512 aso|tk. =S E=24E & AgUC,
» ~8F 4= QlleE2 5o that ~; 22 A8 Hrk

I Grammar ® Reading p.ZOl

1 ofid &= 2 M HE 3 @ Unless—Though

4 %2 5@ 6 @ 7 |was so tired that

I Grammar ® Writing p.22l

1 (1) You can hear what I'm saying if you keep quiet.
8 so that they can hear (2) He was very angry when his brother threw his guitar
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1

against the wall. (3) She took her husband's last name
after they got married. (4) Since we live in the information
age, we should get used to personal computers. (5) His
alarm clock didn't go off, so he was late for work. (6)
Though she was my best friend in elementary school, |
have not heard from her for a long time.

(1) before | go to bed (2) since he graduated from college
(8) because it rained heavily (4) after he left office

(5) While he was in prison

(1) when facing the camera (2) As | was tired (3) Although
it was a little dark (4) until she comes back

(1) We can't play tennis because it is raining. (2) | have
made such good friends here that | hate to leave.

(1) Go to bed as soon as you have finished writing the
report. (2) The shirt is so small that | can't wear it. (3) He
is watching TV while his wife is clanning. (4) Open the
window so that we can get some fresh air. (5) You can do
anything as long as you believe you can!

(1) =85! st M7} sh= 2ol S GUch

» you keep quiet7} 2] a2 2 1 QFof| if7} 21 Fck

(2) 2= X17| S40] 7|EHS Holl HRIS 0 0iR S RACH
» His brother ~ against the wall. 3 o] 3}7} W Zoj= g
71 9Fo]l wheno] @ Fck

(3) 250| ZE5k1 LM Il HHO| NS mRict
» They got married. o]%of A& w}2 FHo|m2 7 9
after7} o =k

(4) R2l= HEat Aol A7 Eof ZFHE0f AU=sHx0F Stt,

» We live in the information age.7} 91102 & 71 QFof
since7} @ ok

(5) AtEE0| S2IX| 40t Ti= 2|t XIZH3HCL.
» He was late for work.7} Zu}o]m & 71 Qo] so7} @ ok

Al

(6) 1= x=Sstw mf Lto] 7+& ZIgH TARK LSOt ArlS
=X 2k
» She was my best friend in elementary school Q1= 4
A2 OFI Bt S g gt xsnE
1 9tof| though7} 27 Hch.
(7)) 22/H|ot] thSZo| ¥ mhZofl Al
(1) L= AL EXt2|oll S71 Fojl 012
(2) O= et EYE! 0|22 7&K Yol
(3) HI7F 0| 24N 1 F7 = FAEIRACE
» because of + -, because + &

ACh
f=Ch
RACE

(4) ZUE S22 £ S0 L HotAS 2ofrt
» (1), (), (4) before, since, after= AXJAFRE o)1 FH4:
AFR I AQITE P& Ab+ F20] + F AL A2 241 Hit
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H It:T

2IE 22{0|= AIE 10l 220l A= S = 0102 243
=of ot 2s AUk

l
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4

8 ® 9 @ 10 such a, that

» Whileo] o]71= H3} Z280] Zoj7} 7oA T
A7 AR Slo| B2 thA] o] i gk

(1) » wheno] o]71i= A} $2789] Fr0]7} Zhopa] Fo] +be AL
7k RerE Zlo| B2 FYEAb+ AR REAL Fo], AR 29
Hek

@), (B) » LA Fol +5AL f=Al0] 1L, o] AJA|7}E ZhA o]
L& AAE A= gt

(4) » LA+ TR0 + 5 AL ATo| L, AlTHe] BARH oAl nE
o] A= FA AA 2 ehfn g A7 AR it

O-||:|.

Fol+be &

(1) HI7} kM R2|= HIUAZS 2 4
» because + 21

() O|R0IM THR ZEL FITES AFHOIM L7 |7} AL,
»such a(n) ~ that ... w WAl Basgo|m g, Bt glo]
Tsuch+ 8- AF+ WAL+ that 0] 242 &0}

(1) » ~8F4lk: as soon as, finishi= EHAS BAo]2 3},

3k so ~ that ...

@) » - ~3f A T can't

(8) » ~ HhHol: while
(@) » ~3tes: 5218 Vel 23| 2 & so that
(6) >

~sh= gk a

as long as

I % Actual Test p. 24'

160 2® 3@ 4while 5@ 606 7 ®
110 126

13 so that the cold air doesn't comein 14 @ 15 ®
16 ® 17 @ 18 |had a toothache

19 so the picnic was canceled

@ 27t xtol| X2 CHZ0il F& 20| Loit&EL7}?

@ L= FROIM L i 2XHS 2L

@I Z7I0IM Tl 0|2 2 R2|= shsix UCH

@ Y7t M-S 25h= Bt 3] 2.

® J= ZZA0|M EHOJLIAM A 00| RACE

» (& because Flof] A7} 4o 2 & because”| of g} so7| ¢fof
Bisap

A: =X CF ZAL?

B: OHL|R, OFX! QF 3012, O & H 1 LIM & Ho|R.

ok U7 ek o] No'ehat glo B g obx] oF 31, ¥zt 5]
o] U g0 Hop &7} Bipyl Shrh wol o & afters} g,
A: U7t o 2UKL?

B: 2 0{2i=20l A37| Z0IXIL.

» Bo] tigto] ¥ole a5t 9o 1 & BecauseZ| &rutch

o 2|7 20T SOt ML (AEE Tl wiRHTE)
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o = 221010 2 St MEIS Stn Qe 10| SMe SR
AL,
>~ Fetll, Y] oJu] & o= 22 whileo|th

5 OU 7t H L= Fojl &A= Aok

> AJZbe] RAPHOAE lele) A BA A e il
rain—it rains

i

ofrl

@ o x|gt A SAELICL

» A vpg| = EH70ch= oJujo] 2 & help—will help

@ 7I0ll Z2IX| L=E 2SS L2MK.

» A3} S QA AL Stk WEA B S e
so thato] ¢dtc}. —Put on a jacket so that you won't get cold.
@ O= et &S = ZAo|ct

» sleep late S=A|71A] Atk cf. stay up late S=A| 71| Z}A] 9kt Q)
SHEA A

® 1 x|0}= O BOtM L= 42 4= lCh

> 50+ - 8AH A that,0] L, suchi= Flof| AR & off 2tk

6 OHZ7IIXH YES FEAH E2AHR.
@ gAlo] Lzt Setol| =7+ T30,
@ X2 5t1 Y= S Cist Lo ZAIL.
> AZES] BAEOIAE mlee] U A AALE LAt 2
L g AJAE 222 T am there—1 will be there
@ L717| ol S x|z
©® 5717} L= Wiztx| 0] H2IE & Zo{7tMIL.
> AZEe] FApdo A= mjefe] U= @A AJAl2 UERdT) you'll
get—you get
7 > ~SpATEAE as soon as, A/FEQ1 Yol B2 AR AJAHIE &

8 @ L= aldlsliM 2i2E SUCE
@ J4= O 0j2lo[2kM AFFE0] (71 ZE8) HE1 XMChECH
Q@ Rel= =2 MES| HshM S| LUt
@ L= O OHItA H3ofl 2 20|k
® 4= 01 £2 AFRH0[2tM 25 TS Z0tBiCL
» @D "so+A1}0|1, YHR|= @), ® such a(n) ~ that ... 1} ~
3|4 -3k @ so that ~ ~3HeS, ~3}7] QJEiA, @ so+ &
A5+ that .y 5 $- ~34 -Siek
whepA ol so, U A|ofl= thato] Sof7kof gk
9 147} U2 el 2eliM L= Cf 2ot XS 4~ girh
» She talks so fast that I can’t write everything down. so+ &
SAM KA} +that ~ can't .., o] ~3|A] -8 4= Qick

10 A: 11 Fst o{Ho{2?
B: ZIAIH0I2. HS Z0hM Bt ¥ f 27 Aloj,
» such a(n) ~ that ... j5- ~a]| 4] -}t

11 @ 37} Mt Flofl 1 o] Yot
© U= Zoll SO ARt 7 stu|?
@ Lt= 0§ Tl Af THE|Ol| A L&) LEQLC.
» 5o that ~ ~3}=2, ~3}7] YJ3[A —"s0+ F-&AH FH A+ that...
w9 ~34] -5tk
@ 0| =S HoHH MY Ho ZAR.

® HIAX|oE 22|= 1 X2 Mt
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12 oll= 30| T 2obA of2{20| B2 = & Sl&LICE SIXI2t O
AE2 o4TIs| H7[ofl UELICE

> 150+ B-AH A+ that ~ can't ., o9 ~84] 3 4 gick
13 » ~7} ---3}A] &&= so that ~ not ...

14 @ JuneO| EfO{'GHS MEE L= JLHE QI
© 7t 22|12t & A 0|22 R2|= =ttt
Q@ = EYet 0|12 2 oM AX| =CH=RSHCH.
@ = AZto| BObM 5| 2TRICE
® 1147t 5let0|2 7H 0|22 L= JHE BHX| Z3UCL
> @ UL LR o) A LEpT

15 @ HATL Sl 2= Z0{0F FHCt
@ L0 Junel| MA0|2tN L= 70|32 E BHS0{ & AO|Ck
Q@ A 2ol S22/l & . I Lol M.
@ E= SX| =2 R0 A U LT,
® 0| £Z= LT EHIM HE 47+ GlCt
G ol 1 hot ZABHE A, oAl FAEE ol
SE
16 S2FCtn 242 ofH O M2 a2 JEL c
» z1e) M APt ek
PE|= =X o™ 7IX| 242 Zo|Ct
F AL B Showre] ojulS ekl A4 AP et
18 Lt= XIS W20 &2 & 4 UACL
» because of + =%, because + &

19 H7t 7| 20| A20] FAEZULCE
» because + 21, so+ A1}

%) =uzs ome

AL p. 29

Check Up

1 (1) you 2 (2) he & (3) he & (4) we'd hit & (5) who &
(1) EX‘lO-I (2) EX‘lO-I (3) EO-I (4) 571 ( ) Ex—lo{ (6) 7<0-|

3 (1) L= H7E L XI5 EU=K] 331k (2) L= 21 Eofl #Had
0| UCt= ARS SUCL

4 (1) that (2) Whether (3) whetherif)

5 (1) Brad—That Brad (2) whether—that (3) understand—
will understand

1 (1) 47t AIZIO| & 2Lt 20| 2F5IC
> [t 7h5=ofo] B2 1150 thatd o] £20{¢1 you gFo] Lottt

A

o

LAULL

rr

(2) T AE2 a7t 2 H4E MERCH



» knew?] £27 9] 03] he ¢ro] itk
(3) 1 7t4+= DR OIZCh= AMME & 2iCH
» the fact®} 5449 F=0{Ql he ¢ro] gtk
(4) L= 227 us MBS0l 2271 273U
» TbeTAL+ 3 -8-A} + thatd o] B 2 Ho| AJZE|= we'd hit
Qo] it
(6) OIX| 2xll= =7t Sete| Ch2 X=X+ 2 Z217to|ck
» HoJH o] 20181 who ¢ro] dlth
(1) L= LH 0| S=53HChn MZI3ic.
» thought®] =-2]0]
(2) Ltz 27t AZ|0IEE Bl 7t HE2X| REZCH
» don’t knowe] &z o]
(3) A= 17t oto|22 A "ol S8 =0| 8ich= AOo|Ck
»is9] Ko
(4) 1 Hi7t ZACH= AA0| L= S22 2UCh
» the news?] =2
(5) L= ERIE{0f 7IEX| ot EXIE AFSHK| ZRUCE
» haven't decided 9] &-%]0]
(6) 2E7H AL HES SHM AE
» 71501 Tto] 291 2%
(1) g &=
» whether ~21%] (o}dA])

the rumore} =249 thatd2 ‘~gt= AF 0 7 Fjj43ic]

(1) Lie] HE2 A En QAL S S HBtCh= Aol
»is9] Hojo] =L & that

(2) 27t 2 H|YES LUK SX=XlE YXIX| &1 AUC
» Slof| or noto] 9J11, F=ofo| =& Whether

(3) 27} 7|=1QI0|E OFLIE L= 24 Sict
» Slof or noto] 9Ja1, BAoj& 29 o 1 & whether(if)

(1) Brad7} & MY M| stwoi| 2Ct= A0| S&Ch
> is Q7R 7} Fojolm g B T Skl WAPES 0|71 That
o] Zol7}of k.
(2) CHE29| AIRE2 2371150 H Hof| MZictn T=C}.
» believe 9] A ojo] 2 & whether”} oz} thatS 2
(3) Lt= LY O50]| L YOE O[sHEX| ZFSIch.
»ifdo] wondere] F2jo]& Q] YAtHo|H & ulefo] Y2

e AAI2 LehdHk

YA AUS S OBM BN 0o
Check Up
1 (1) where (2) What (3) how (4) when (5) who

2 (1) what my name is/=X0{ (2) what caused the

accident/ =0 (3) What you said/F0{ (4) Whether the
Loch Ness monster exists/ &

3 (1) whetherif) (2) How
4 (1) | wonder iflwhether) | am doing it right. (2) When do

you guess he will come back? (3) Do they know who their
new English teacher is?

5 (1) | went—whether(if) | went (2) Do you think why—Why

do you think (3) is my answer—my answer is

(1) B-EAO| oTIX|R?

(2) 2S0| CH30il FHE sof Bttt H2tstM 22
(8) Lti= Oty F LZUol| & AjZH LUSIAI=X| 2EC)
(

) 2
4) = LIolIA| x| Fsty Pé*oo"% AEIEX] 2L
(6) =7t B710ilM 0|Z3=X] Ok
(1) Li OIE0| RARUIX| 7|ASA
» remember?] &z o}

r_o

l:O

(2) 2Xl= £N0| O A E =ef3i=7to|ct
> is2] Hof
(3) EAlo| 2t5t Z30| 2ot EOIct,
» seems?] F
(4) WA = 1|E0| EXlfot=Xl= 5| O|AE{2[0|C
> iso] o]
(1) A: O =2 XS OtMIR?
B: Y2010IX|= 2=t = dEHE iR
> U84 ~lA] (Rl julo]aL, knowe] Eojo|mz
whether(if)7} &y

(2) A: 7L o8 I 2NIE sHEE A2t M2isthe?
B: 12| 7tE0| OE =2 7 Z0}2.
» WA BAIE dsts W 21 e 22 Howrt &
g
U7t 222 M2 st A=X| SSstct.
> O AL §li= TP Ot Miflwhether) + 5201 +-5A} =4
olct.
(2) 17+ 1R Sot2 A Zote?

» do you guess®} AYE T Z OfFALS =7 W o]l

—
=
=

o,

A

(3) 2SS A ZO| AAHO| - TLAIX| OfLIR?
> Do they know7} ©JA} gFo] Sfof gy, ol £4} who
o] B £ Q)1 Ho|g & 4% Qlr), Fol2 B who is ~,
Holg 2 who ~ is <47} Hok

(1) 2= WA HAZ ZE=X] XISHER =X St

Chaptero2 7



> asked®] 25207} BR3}L, or2 & FolA ofd 23l
2|2 Bolo @ Fol [ ghof H<:A} whether(if)7} Soi7fof
ek

(2) 24 27} Ui 2ol iEa |8 7t 21 ZolR?
> do you thinke} A=\ O RALS B W o] Erh

(3) i 0] 2H=X| = mact
> OJEA} gl ZHASHE & iftwhether) + 501 + EAL, 44

ol

I Practice Test p.32l

1

8

1 (1) whether (2) It (3) whether (4) what (5) when (6) What

2 (1) how (2) where (3) who (4) Why (5) what (6) when
31N@@R@O1ERB D@4
4 (1) What do you think (2) whether he went back (3) Why

do you believe (4) will be (5) when | would leave (6) if |
really have to

5 (1) It is not true that (2) if his teacher trusts him (3) yoga is

good (4) It made me sad that (5) It is unlucky that

6 (12 ®E®

(1) 27t FXIZE RBe=X| ot Ri=X| Lis 2L
> YA~ 1A obd A onjo] B2 whether7} &tk

(2) 2217t 77 [ofl MAlZtol Z 2= Sitks 20l
» that o]} ZF=ojo| B2 7}2go] [to]

SHAISICE
Syl
(3) EXll= 27t = ol e 4~ U=X(o]C.
» i8] Hojo|m & whether7} &atch
(4) J4E= X712 2I=0f AlZ MX| k=Lt
» looks like 2] E-A o7} € @35} & whato] &atch

cf- like7} 912 how she looks& #oF gtt}. how she looks
= what she looks like

(5) muur olﬂ :LO| OEI0| °‘|I‘||°|X| Ot ‘='01|:}
> U84 18] o] dAIIAT o] B2 wheno] ¥BIT.

(6) R2loiA| 7+ HRE A2 o2 =2YLICh
» need®] F2jo)7} Aasin e, AYALE EFsh= Whato

1) L= OEA A 2SS A & UEX| 2ECL
= Qo

Chapter 02

3

@It zest Az ge 25—% Sh= Z0|Ct.
» matters2) —Zroi P
A} Whato] ¢uich,

(3) MI7F Al 7|2 OJAEZ| ATEH= 24 HIZL|Ch
» that 0|37} Z1FEojo| 22 HiFto)= 71520] to] &kt (v
282 an: guk o2 sPste] mjF-S WS H xﬂ%
AB|AE F7)she AR 2ARY)

E_

(@) X7t A2 M| o 2Xl= ZH7t QK| %S
Lick)

» Fo]| or noto| ¢Ja1,

ofgUch(E

Folg o3
(1) M| 2gho] =02t Y2istM 22

» do you think®} A3 E 2 OFARS &4 W ool Ef

= 2 Whether7} &9tct

(2) 17} 0|22 2 SORH=X| L= 2L}
> OJFEA} Q= 7HR o) E-2 whether +320] +5AT, <=A{o|tt.
(3) oll4:(2] Zxf)= LomHA of AlEIZE R A (2] EXH)= O @loA|E?
» do you believe?} Agte|E 2 O] BALS 2} ull Qfof| Fr.

(4) 1 SR+ 2 HEFOIEX|= OFR . BECE
» knows 9] £2ofQ] ALHo|E 2 mjefj o] g u]e AlA| =
Upepict,

(5) Li7t X 0I=2 2 mHLE=XIE 27t MA| SASLIC
> asked ] F2]ofQ] FYAPHO| LR TOIFAR F20] 4+ FAL 224
oft.

(6) M7t HE 1 mE|o] 710F ot=X| LB FalziR?
> o)A} Gz PO RS if + 0] + BAL, Aol

(1) » It ~ that 7}50], 150} 50| orgirl,

(2) » “HJ5H=A] opdA O LR if7} Sof7fof Fhe.

(3) » heard®] BA0]= o|11i= thatdo] 4] thate HeFe 4= gltk

(@) » It ~ that 7}520], 21520} SLZ o[k

(5) » the restaurant was closed”} FZ(HFof)o| B & PYALE-S
o|T1i= <A} thate 71 ool ofof gk, It ~ that 7501, 41
o FEolt).

(1) « 27t CH2 0f| 2 mf Lh= Atate Zo|ct
o 'C2I X7} LY Q=X]| OIAM|R7?
» o A7be] B (when)o A= @A) AA|I7F vl & dhAlghc.
* whether®& know®] =2]0]Ql WApdo|Bm 2 njeo] oL
ulef 2 Lpehaic.

(2) 27t LH 277t Elfh= A2 E7Fsoith=s AE YUCL
) LH%FO 7|—OFO|‘I| P gy} I|:|.
>« thato] found®] A1Ezojo] =& ¥IZko]= 712 o] jto]

o,
* hg4 ~21 ot

7t g

(3) * 5l U= AS OIRITL LEM Hst EZAR.

gHilsHA] Ssth= Aol B & whether



* ZAl= OS0| 29| A= Sl [l P ICF
»* am doing?®| E£&oj7} Bt 2 YA}
A g A} whato] ggtet.

o Y84} ~Q17] opdAo| &2 whether7} &gttt

I Grammar ® Reading p34l

1 IRl = 2ot A A=Kl 2 @, ® 3 @—that
4 @—What they do withit 5 @ 6 ©
7 that what | say 8 made it clear that

| Ol= 3FEE! ool Bt FAI7E =M= ZojZiTt FAl A

, = AMMoiA| 247t =6l & 2He Al RA=X| 2=t

a7t s0l22 ME HE ZdOIEP A2tEHHM s 20 T2
74

siA] | Hod, cHret 20| 207F 3 ORIt H2 diME HeH = 1Y
ol ECt= 2 S "E*ZJEXI”* 70| =0 *EFE A UALIR?

H
| E 3\% M|71I 2 7101|°
e sure 5ol 91 BARS o1l HoA Lagd] g

»@Db
A ~Q12] oA 7} ofLfe} ShAlsHE Aol B 2 if7} offz thato]
Rl
8141 | AJRHS0] OfZA 2 BILLI I2OR 29 SLi= o

7HoICt. O AlHS2 E% E RS Ui* Bolettt a52 258

J2Lt ofiE AFZIS2 02HE 28

> @ Fofol HAPEYA] withe] BHof7} glo.8 2 with e ito]
Eof7}of 3tk (A is one thing, B is another. A9} Bi= #7}jo|c})

541 | 16201501 Ussher(01Ad) CHEFELLIt 24K MI&30] AIZHE|U iﬂ%
ALRICE O NS BESP gES o e 2ZE SEUS

Lt0IS CI3HTh = StfEo] ofEnt 0125 717 4004 10% 23

2 LY OF gAlof FHEFACIT AMCE TJ2qLt ATHe| FstEel

dAL 2t 22]2] B2 452 A Fof| FEEUS0| LS = UL

> HIZE Fofl x[7-9] wpolof] thgt wo] A% e B viztel= @

7} gy

SHA | E2E0| o{ZA SO MesH=X| 23 Bt K| Q=77 o
2 217\ e QKM 2o BM7I 4748 Folstch, 12in S
2 XS IlololM sIXIS 28t 2742 o Zofstct, siX/at 1S
0l 71 DiEio 2 o7 42 olrjo|ck 1SS Ch2 US| o
ste 2my|E gy,

> @ 7 WA 25 G5 =377t Folske lef dig ojof
717 e B2 Hiztoll= W84 o gA 27 itk ®

mlm
no*'
P‘L
rr
=)

finde] £=oi7} glo.m e Mk Eakshs whato] e,

a4 | L= MIAE HiE 4= ik ofX|2t L7t 25t dEske A0
SE ARS0| (MYS HH1) A=SI=E S=9 F7|S Hi2ith
—EtE2

» I'm hoping®] #4Jo1] HAES o] 71i= thato] A2 ¥A) 0.1,
say and do2] E&joj7} glo v g MPALE Eg}sl= A T EAL
whato] 231, 1 5Joj] o{o} 547} o e,

sHA1 | H2t @Hl0b= 021301 CHEH 22 et BE MUS olzt
0] o|Yet AHAUS wEIICE T= 2010 88 312 0[2t30i|M 0=
O ME UR= B2 A0l2t= AS 45| ik

glo = g =l (made)7} HA 231, by o]a}
| ApEo| B & <AL thato] gho] 9}of Fhr}. E-2]o]
o] ZojA] 7h= alo] it 231, 27 Hof clear, 21 T3] A
E o] thatdo] 2= 7 @tk (make it clear that ~o]gh= Z1&
g4l35] ghsth

I Grammar ® Writing p.3el

1

(1) you will support me (2) your English is perfect or not is
not important (3) he won the award (4) is interesting that
the case was not reported in the newspapers (5) her son
is handsome (6) his wife will do all the housework

(1) when the winter vacation starts (2) how | can get to the
63 City (3) ifwhether) the baby is asleep (4) what you did
last summer (5) Who, will win American Idol this season
(1) How old do you guess | am? (2) He didn't know who
the girl was. (3) That you passed the exam surprised me,
(4) Is it true that Michael Jackson was murdered? (5) |
wonder if she will admit her mistake.

(1) The point is how you live your life every day. (2) He
asked me whether | wanted to stay at a youth hostel or at
his home. (3) | am sure that this water is safe to drink.

(4) Do you know if a bank is near here?

(1) Do you know where coffee beans come from? (2) | am
wondering iflwhether) you can lend me some money.

() The fact that he lied to the entire nation won't change.
(4) What do you believe happened to me yesterday?

(1) A X|X|E SHolEtLCt
» be sure of + WAl=Dbe sure that + 5=0] + FA}
(2) Fhlo| Ho7t 2HHSHX| OFAX = SR5HA| Z0IR.
» It ~ whether 2130}, 7}3z0] FHojA It% Qi Aol &
Whetherd Fof] <5 (1s not important)E A5 Hck.
(3) I= 1 A2 HIotN SRICH
» be surprised at+-5gAF=be surprised that + ] + A}

(4) 71 Akzdo] A2l B =5|X| 242 20| E0jECt,

Chapter 02 9



10

> 7o) It A0 B 2 thatd S H2 Hujw g
(5) B o{o{L= X17| OFS 0| ZHAZICID AZt5tc),
> 0]+ think + 52j0] + 542 ko] =0} + think + that +
Fol+5A
(6) = X7 OIL7} RE ot & o2t 7|cHBtCt,
» F=0] +expect + H2jo] + 2 A Hof = J=0] + expect + that
+Fol+FAF

M
- oja) Sl 2l

(the 63 City 6335<] 4

(8) 2 Op7 |7t S =X IH0IH SOEML.

> OJEAL Qi o B8 Tif{whether) + 520 + 54}, =A]o]th
(@) L= H7E X oS0l & S 2w k.
> O ZAF A A S T AR+ 0] + AR 2AfolT)

(5) OIH A|Z otm2|ZH Ot0IES
» do you believe} A3t 75‘%01]—5 ofEAE %XJ H %Ml
=tk

(1) » Do you guess+How old I am?

(2) » OJRA} Gl O] B0 & O] BAL+ 0] + FAL, Aol

(8) » That you passed the exam 5014, surprised FA}

(@) » ~o] AFAeI7}?: Is it true that ~?

(5) » ~3HA] F=3}}: wonder if ~

(1) 2Xl= gLlo] €A i Ab=7tAL|ch
 howt= is®] MO EE o] T Mt 2elrk

(@) 3= WA RAZ AN HED A0 sh=X] 22| Foll HEa™T o
0f st=XI1E ST,

» whether:= asked®] E40]H-& o]T1= HEAR 21t

@ ol=
> that2 be sure Fo A BAPEE 0|71 AR 22Utk

=2 0N M CHD SIS

LS R iy

(4) O] Zx{ofl 20| A=X| OLMIR?
> ifis knowe] B A4oja& o1 At A9lch

(1) » Do you know + Where do coffee beans come from? 2
A Qi SRRl 2 Tl AR+ ol + FAL Aok

(2) » I am wondering+Can you lend me some money? 2]+
A} QI OJR RO Tiffwhether) + 320 + EAL £24]0]th

() » the fact®} that he lied to entire nationo| 20| 2 & The
fact that~0 2 57} 142 31 &5 (won't change)7} 1 Foll
o Ht.

(4) » Do you believe + What happened to me yesterday?
do you believes} A3 90| B2 OJTAS 24 W %o

2o

Chapter 02

I % Actual Test p. 38I

1

10 2® 3® 4 whether 5@ 6 @6 7 @
82 9@ 10 wilcome 11 ® 12 @

13 no doubt that something happened 14 @ 15 ©®
16 ® 17 ® 18 @ 19 lost 20 she was

® T4 FY 2RI 2 2ok
@ Li= U 40| 2 72kn 2lof.
® L= BEHo0| x| RIICH 2 Lok,
@ Lt= 1 11=0| Shrek0 |2t 2tAlsH.
©® W7k FOFE Al SalsH.
> ) 7012l BAES o] T HAbo| B2 ke 4 girk

A ol SA=X| LK.

B: 2= OFol| =71 LoiLtM HAS ZR0IR.

> BoJ tigo] ol frojmz ¥ {Poﬂ“‘ & &5 gol ¥yt
A: AELICH 2 2LAS AT 0L, ofC|ol] U=X] OPM|R?

B: Ul. 2iZoz ZE 7M.

A: ORELICE

» B tigo] A& delFil Qo B g NIt s 2=
o] gylty.

O HUZ K| US BOIHER| AAR 2
o 17t & £ UK SleXl= 261K Lk
» @ asked?] E#ojQ] Yapdo| 2 2 if(whether) © [t 715201,
HI7F o]/} xl5=0jo] 2 & whetherRt Ftt.

_,_

® 37t 0t2 S F3=X] OFIX| 10117 S01E,

@ U7t A7 |oll 2| Zk=X] sk .

@ 1 £E0| F& XQIX| Y1 ACh

@ S+ AZFC Mzks?

© 2 20| 11 =27} QTS| FFstct

» @, ® that—if(whether) ‘~<¢1%] opdx|'9] oJu|c}. @ did you
go—you went &AL = OO B2 Mg A+ F20 +-5AL
=Ao]t}. @ does the saying mean— the saying means 2]&A}
QUi O Ho] 1 2 Fojab+ 320} + 354k, Aol

@ ChristinaZt O|Efz|ot 4121 7 &0
@ U7t 3 FH2 dAE & & USK| 22
@ U= X 25 BHeh=X| Lol 7| 23UCE

@ U= off R2|7HA =M20| ERaittn U= 7ALE?

©® 7t & L= LISH| 2ol 2

» @ Do you believe why—Why do you believe 7H o]+
©] do you believe} A3t -9-oll= S EAFE £ W ool &
th. ® did he do—he did oA} Q1= R Fo| 2 Mo BAL+ 3
o] + F A} Ao,

> find + 7540} it+ 2 42 R0l 4D + 4B Ho] thati]

@ U= a7t 39| Hets 2 A2t s,
@ L= Ul7t Y 22lsta gt 2X| 2270Ct

—_
~>



@ 19| 5|Y2 W=t A4S A0t 7= Ao|Ck
@ MESS HAEZET} 2120
®J7P"'01I S0H2 0] AtAo|of?
» @ ~elx) ohdA| ] if, LA

9 L7t J0f #5te 7|Yst= A2 7t 717t 3k Ao|ct
» What I remember about him is that he is tall. What-2 413}
AFE ERSHE BA A, thate Holel BAES o] AL

ofr.

10 A: JuneO| &IX| SX| OFMIR?
B: 0| 3 2ol = 7zt SR,
» whend- know®] 5210191 WPapdo|m g mjzfo] de wjef=
Lrebdich
11 @ 32 AHO| Zo| #2{RCH 27t Liol|A] Z3AC
@ L= 37t £22 Atol2fn Mzfst)
@ 7t 4l O|HIYS EU=X] EH0IFH04?
@ 19| RYUTH 2 £HEO| gict= Ao|ch
® 0| 7tm2f7t 20| Z2X| O{EHX|= 27| oHLCk
» @ that—if(whether) ‘~21%] ol dx]’9] oJu|c},

12 X 2S5t 0 HIM, X7 L0tRlx| Zof?

> @ SJRAL Gl ST MO AL+ 0] + A Aol how
much do they cost—how much they cost

thato] ke

13 » £93lct there is no doubt, F<& Yo 1Qltt something
happened. doubt®} something happened”} 5 Ao] =& Alo]oj
5249 thato] So}7}H Hrt

14 @ L= 71 42 2 72t S
@ Ul 2H™l= U7t ot = BX| Retth= o
@ L= Ul 0iSd0] olle7 7t =|7 | Hi2iCh.
@ O|ZI2 L7} OfH| At HHGOICt,
©® 27t =50[2h= A2 SH4ASIX| 2T
> O PAAGAL dRl= BAREE ol e HEA

15 @ U7HAIE & & USK| 220
@ 37} ZH|=[0] U=X| Lot
@ L= MS0| E8 4 A=K 3 33ICh
@ Lt 27+ X3 ol UR) U Ak
® Lt= LY M7 E2H & Ao|ct
> O FAEE o)1k &AL LAl BALES o)1k B4

HJ|

16 AlZt0| =0[2t= A2 MR o2 2rt
O AMEHEES X707 HHSICh AZH4ct
@ S0|2Y H0|= HS0| UACL
@ EXl= LH XA v 7F "3 A0|RACE
@ 1 U2 soL| gZolct
® 17} HHiE EAck= A2 ARZo|ct
» 5719} Gz Z20j0] WAPAS o] 71= <A} that, (D H4AHE
ol) @ TAHAL @ 125AHw0]) @ AAG A

S| HE=EXIE EH M= oF ELICL
~Q12] o}l d2]'?] whether7} &ttt

17 30| &
»ornoto] Qo=
18 AFEE0| M7 THEESIX| b= A2 ERO0 |2t M2t

» I think (that-=2]4) it's wrong (that-Z={4) people do

19 JE7H 2E ojel 2o
I

20 L=

ASA] T2 EACKAS] £

1

not recycle waste. it ~ that 7}520], X150 LEoJch
|

= L= aur Eslo) 2

» must have + 7 &A} ~

o+t

U7t g0l i HE BTk

» find + £-2]0] + 52 Z Ho| = find that + F20] +FA}

p. 43

Check Up

1 (1) ® wholthat) (2) @ which(that) (3) @ whose (4) @ what
23HEEE 3 (N1®(RQOE @A ®©(®B)D(E)©

4 (1) people whose cell phones (2) What is good

5 (1) live—who live (2) them—them K|

(1) L= 21=0{ 5715 sh= 727t Uct
» AN} Aol 1, speakse] Fof HTE sH= 32 A
WA} H s,

(2) 0| HA BEOZ T IQ?
> Al AbEol L, goeso] o] o
A7} E g5t

(3) LRI A2 &= RS S{&sHof Bt
» A person should be allowed to die. + The person’s brain
is dead.o] =2 A person AZYALR 3= 202 TAHA
7t st

(4) L= RalZTtoll ot U= XS okdch
> A} 9108 2 AHALE B3kl WATEAR] L asich

(1) 27t St (Etetal)S A=8Hwho directed the movie
Twilight) Af2to|Ct,

» who7} 0]T1+= o] the mang 4=4]s}= J-EAEo |tk

(that | met at school) AFZE0| $ixH Li ZIF1E0|Ck
A5k FgAPolTh

=

=(which was open for 24 hours) 7IHIE

(2) SHul0i|lAf 2Hch
0]11+= o] The people>

(3) OS2 24M 2t 22
S

» which7} 0]71+= o] a shop& 4=4]s}= F-&AHHo|c}

(4) 20| MU l(whose birthday is today) SHYE
» whose7| ©]71= Zo] all the studentsS 4415} = &-8AMA

ofck

(5) DIQKSEX|ZH H410] GHAl 252 (what you said) R SUSLICE
» whato] 0]71%= &o] couldn’t hear?] &2 o] 52 5}= 1

Chapteroz 11



Apdolet.

(6) X X7} 0 Q=(that the man is wearing) SIEIO|7} OF20]|
=Lt
» thato] 0]71+= o] the tieE =4]5}t= F-&APEo |tk

3 (1) HITA| 20t Hol= RS0| AUCt
» YA Aol B2 A A which} that & = AJ2s]
of gtk ®), @ & o HAT -84 ©7F Sk
(2) 0|HE0| 20127} I JEo|Ct,
» APAL AbEol B2 AAFE-E whichu that & = AJ2s]
oF gtttk ®, @ & ot H At drewe} picture7} AAE 2=

(3) A OW7t XI7| mHElof| LIS Z=CHEE ALH0|C
> APAZE AR B R @), @, © tf HAIRE 84 @7} Wtk

(4) XHAlO| FZBH= AFISS T BHLIX| S ARRERE QUTh
» APAE Aol B R ®, ©, © tF =AY firefighters o}
save7} AAEEE Y84 @7} vttt

(6) 2= XP7| OP|1E B2 4= U= 0| SE= ALES Hetrh
> AYATF Al B2 @, ©, © tf HA]5 babysittere} take
care of her child7} dZ2% = 2 Y& @7} vtk

(6) 2 AASO| FFRCL 7oz B2 MES2 A EE gl
» what is worse Fo]= ok U[grt LI A13}o] ofof 5.
2 ©7} gtk

4 (1) » AFEY FoEo] ol AolBg 484 TANEALE

o] g5} Hrt.

LS

(0

(2) » ~of &tk be good for. YA} gz TA YA whatS
o] g5l Hrt.
5 (1) 2 &M= LAN| At AIRIES S5 zotE
» live ©|8}+= peopleS FtH F+= F-EARERIY 1 AL o1
£ 32 AN gAF wholthatjo] whc.

(2) 2| MU XAI0| o3l Fof| W2 ARISS L2(0f|A| 2ot
» the picturesE ¥H= them djAl BA N HA} thato] 291 A
o|B 2 them-2 wiA{oF gt}

Unit2 ey N e g 0. 45

Check Up

1 (1) I met in first grade (2) that I've ever seen (3) | have
never listened to before (4) from which ~ in 1497 (5) you
asked me last week (6) that I'm thinking

2 (1) concerts C+S (2) movie LS (3) bed CHS (4) music CHS
(5) man Ct&

3 (1) which (2) thatlwho(m))

4 (1) Is there anything (that(which)) (2) to the songs (which
(that) were) sung by (3) all the food (that(which))

5 (1) for you are looking— (which(that)) you are looking for &=
= for which you are looking

N
2
39
(u}

12 Chapter 03

1

(2) that—that A% E= that are (3) it—AH|

(1) 1 BH-K(I met in first grade) ZI7E0| MY ECt.
» friends o] 22 AN PA}F A= Sk

(2) 2= W7t XIZA E(that I've ever seen) X|2t0| =X}0|LC}.
» TA G A} thato] F-GAPES o] EL ik

(3) ™oi| &t H= S0{= X0| gl=(1 have never listened to before)
L2fE a250| HF3AC
» song ol A2 AN PAE AFE| Ik

(4) 27d0] HEA TR Citobzt 1497H0| Q=S SF5H0] E&SHfrom
which ~ in 1497) 320|Ct,
» A HEAL which7}h o] 11 F-8ARE oFoll A A]A} from
o] 9tk It is the place. + Vasco da Gama set sail for India
from the place in 1497.

(5) W7t XI=tZ=0f LISH 2012 (you asked me last week) 11 22
=0 tisiA 2fsh= Solct.
> questions ol #5212 AT YA} e glct
(6) A= L7} ztsk QU= A(that I'm thinking)dt 22 23S 442t
513 ALR?
> Ad3Ate]| the sameo] §10 B2 FA YA that: A8t
ot L7 2 EME EJAE 2F 71K UCh
> concerts ol 212 A HAP | AYFE It
(@) H2 A S0| SES7} A=et G5 Sotettt

» movies 5] which were7| A2F=| ]}

—
—
=

(3) of3ttofl T Eh= HoIHX| IUT
> bed Fofl 542 TA YA AYFE Ak

(4) BIE7} X2 o2 ofiH ZRLIR?

» music F o] which were7} QJ2F=|q1ck

(5) FHIN 22[6t= HXH= ST 74 2Tt
» man F]o]] who is7} AJeF=]gich

(1) A: 25 ofc| 7k 4lof?

B: W|7F X|HR0l Zr3REt T Aol 71 4404,

> ASAb= AHRo] 1, AR|AL Holl 9B BHA TA AL
7} obok Bhe}, obof A AP} QLo B & thatS & 2= glth

(2) A: RonO| 2 211 QU= X 04Xt fof?

B: OtL|, 2 2&= Af2Ho[of.

> A Aol 3, B W ¥lol gl XA B Aol7} o

ofof hm 17 A AL ofof g,

» ~7} 2k2.2: Is there anything ~?+1 can do the thing

for you. anything& APAIE = H2 2 WA NYAIR F

AL SR WS 4 otk BA2 BAYYA: ek 5

ek

(2) » Hop7} 22 w-7: the songs which(that) were sung by
BOA 52 TATHA}-+ be's Abs AbeRe 4 gk

“

=

(8) » My family likes all the food.+My mom cooks food. all



the foodZ ARALE sH 242 WAEAE & 22 5
U B 4 ook B4 AT A Ak 4 glck
0|Zi0| GAlo| &t U= HML|7t?
> ARAZE AN EAL Shell & o= TAEALE B 4
Gk wrebd forg £ wh ¥ sfAG B4 for Fof =
22 TAHA whichE dofof ghrh AX|AF Fof| TA
A} that& & 4= girk.
(2) Y= MQI ZHIk2 O[sHst7 | EX| SACh.
» the signs (that(whichJare) written in Englishojof a}+=d]
be S A AIck 52 BAIK AR+ be Ak & Folelzut
AR 4 gl
(3) 0|i0] 12| OF=0| S2UE LIFOICE
itS tree WE| TI2LS ShAISHE BT A} B2 Zo]
2P AekEl Bl B ito] whafof Si.

I Practice Test p.46l

1 (1) that (2) that (3) are (4) what (5) have (6) whose

2 (1) S2At (2) 2AICHEAL (3) EAILHEAL (4) 2ZAt

3 (1) 2AICHBAL (2) AL (3) BIAIHEAL (4) ZEATHEAL

4 1)@ B®B Q4D

5 (1) which (2) what they call (3) for which you are
responsible (4) X

6 1@@B8®BDO 7 1HDE@®

w
—_

=
=

1 (1) =S AIZHoll L Foll EUE 22 =X} 00| 2of?

> sate] 52017} Elojof ShL & 24 WA AR} B3|

(2) OI0| L7t 2F E= S0ICk
» AYAE ARzl it listen to2] H2017} B = 522 AT
WA} s,

(3) L 7tk Bl Q= FHES2 9| MHiMS0|Ct
» who are with the singer+= The young men< v &=
FEAPHo| B & FARO| $2= 2742 F20]2l The young men
O] spof] LAJA[AOF Thet.

@ d ez 2Y 2 Ax R YE 70H
> HEAPE 9100 2 HAALE ERsHs TAYEAE Bast
t}.

(5) AIS &M Elhi= SHYS0| g0l o ECt.
» who ~ early:= StudentsE 0] F= F-EAPHo| D2 FA}
o] 41 £40] 22019l Students] S0l UK A|FoF Tk,

(6) REl0l7 0|2 2 =0| ZESIK| 42 A=At
» a plan®] purpose©]| = 2 a plang AYALZ s}= A5-2 &
ArgAE B a5tk

2 (1) 7oA Mafshof &X| 2 =2ct

> TOJ AL+ o A}, TEOc,

(2) SFAI0] P2(0f7H LH BXI7} GIOHEOIR.
> which= The letter v} 71 8482 o]t 2
Aol

(3) L2t 2 32 U 47t gl
> HAALE ERHSHE BAY ALl

LA

(4) O|Z0] =710 AF|O|EHEQIX| Ll F.
» Tell me. + Whose skateboard is this?7} Aghe 7HH 2=

olt,

(1) XIS7EK] of A BoIM 2o HHE 2AUIIR?
» that2- the best scene2 1 F+= FJEAPES 0|11 A

g Apolct.

() 2t B0l 0] U= 2 #0|2E Cf 2o 2 Motk
> that thinks®] % #o1] AHES o T1= A4 Apolc,

(3) Ul Ottt AN 2 T MES HOF.
 thate the gifts Jv] Zi FEAMEE o] 1 P A}
ol

(4) 2H SI0IM BRE AHSS L ZITS0|Ct,
» that2- The boys& ftu| = FEAHE
Afelek.

(1) = L7 RUSHH SR0IS = AfZ0IiCk
» AYALE ARFe 2 slaL, spoked] F2017} = 24 A
BARE Eol7}ok ah Aotk

(2) B0l A= 71 2 BB 2ALIIR?

» AHPALE FER 51, livese] F2017} Hi= 22 A EAL
7} 507tk k= Ahgfolct.

(3) 27t =2 #l0|3 TS HACE
» AYALS AFER 3L, baked?] E2)o)7} Bl 227 317
AR} Sol7kok 8t AHejoltt.

(4) 2Ef2k2 LH7F MY Z0t6te & M40]Ct
» AYALE A 2 51, liked] F2jo)7} = B212 1A
A Eol7koF Sk AfEo|ch

(1) » A AL thate AR FAo| 2 £ 4= glrk.

tle

o|= HAHY

o)

(2) » 2%]: what we(you, they) call, what is called

@) » A+ B2 A TANEALL EAY HHE A NEALS
A H2AF 22 W F & 7o gl

(@) » The girl Floll who is7} '522 TAHHAL+begAkErAl A
e gefolek. 1522 IAH YA+ besALE B4 Golgl2
Ayt

(1) ®OIR2 7St YHE XIS
@ Li= o] 7o 2 HsiEl 2| Lk,
» a desk®] sideo| 22 257 BA Y HA} 2tof glTh
Q@ AlIZHLHA 2t A BE BEM ZAISEILIC

(2) D7t 1 IS 2B=X| OpMIR?
@ 0]0| L7t ofF mf SXIH Hi= =1 Leelo|ch

® 7122 Y MRS BE 22 Y Zol

XS5t AOIEO0|C.
|

L
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T 374 ARG kA Sk

(3) @ 20| =12 I0|QIX| ZELCE
» I don't know + Whose cat is it?7} AglE -8R Ho|=
2 OB A+ Fo] + EAL, S47} Hofof atk:
@ 1= EHO| ‘ARl AL42t Hlo|Esta QUCt.
Q1 A= 283D O EUE A2 MY 2ist 2171t A 7470l
Z4Ch= AO(ACE
7 (1) @47t 4l Maigo| Z=8t ofxt 20[L?
© Brad?} 1 2X|E & stAo|C}.
© OMIE= 2ojLt= YolCt 3] Mo|U7AL Z25 .
» @ Abgo] Agiatol il married?] 2017} E 4= Gl= A
that, whom ® A}go| Aggato]ir solved.i Foj7t & 4
= A& that, who © A13§A17} -thingo] € 4= Q=
thato] 22 FE0 & %= 78 thatdof §ich

%2 rlo

it

o =
e %

(2) @ 1 ®X|7t =F0IAIM =X S 3ottt
© 27t L20IM THEE 227} FI=E HiCh
© 1 7= Ao EX7t U= AFRES Sttt
» @ I wonder + Who(m) was that letter from?o] A%}t 7t
Aol ioltk, ® AP Agtola mete] 2 #joj7} wofof
32 2 who(m), that © A3§A7} Algho] il have o] F-0i7} &
ojof l= & who, that. @, ®, © &E° & &= 22 whodt
of gick

I Grammar ® Reading p.48l

1 @ 2 ® 3 which(that], what, which(that)

4 Q affects—that affects 5 (A) which (B) what

6 That's a protein which(that) was found in eggshells
7 The first thing that comes to mind 8 F

1 &iad | 71 2igut 5= S0l 4 7HE ARIS0| RLk olE SH
Toothman(0|+ A2 0[2H= X|Tke|AL, Joe Law(H)0[2t= HS AL, 1
2|21 Jim Barber(0|2AH7} 0|21 0
@32 a2 @ I2EZ2 @ 0IE SH 6 AM
> IzE o] 3 EA0) Yo gt 7 A oA S Ve
& Qarph gk
> ¥z 5o EARR Fol ole 77t LdslolE R A 32
o] k40| there is ~=S 24t}
2 &iA | Htol2Ein QAAERLE fISHAME &, 6E, 718, J2l1
71°9 DAL= 4702] EFZ0ICEL gFF2 6t =2 0149 =
717t RAIAERIR}L 36X 0| HFot= S20|C
@A™ @ HIOISE @ RAAER @ ME(SHR
> gFoll b 2 Mg F1 oz Hizh
St TolE A ZFollA] 2o Hrk
3 A | 22 A% ATEHN 20|= ofHX|mE 0|F0{ZICt 0| H]
EHOIM LIR= 5%8 2|0l|A| SHA| HO[X[2H A2 o2 7HX]

-

®
el -8l s

14 cChapter 03

Mo 2 M0 QUL

> AFEo] AdYAto|al are?] Fo)7} Eojof sF= &2 which(that)/
what is called 2=$]/AH=E0] AdAlo]al appears?] 017} Hof
ofF 5}=. 2 which(that)

HA1 | Zto|=2o, AMEHH

o

-

rno —

Ay
HlS Ehhlo] Aol EEE 7Ixl

C|
o
A2 hlofA H2E == 25Kl Lote. WI“J ZEEA
Y 12 =i F012.
» affectsi= a poisond ' F= FEAPESY] FARIY 1 4
o1 7 TAHPARL wHA gl

o [0

rnr 4

541 | BBC 2O A A EN] 241 Z BBk M3l 2ot
o 5 winh stAIE0| Chsl HEREE OEULICE Sate A} 5t
L 2tz 0] AB0| 03 ABHOIY QK5 OlROKECD Hs
ﬁ | AZHS)

b MAlE Moy T2 A MZEsto UX| &L

> (A) test7} AdJAto]al wase] Foj7} Elojof t= & which.
which®} was A}o]2] North Korea’s news agency is saying
AF¢lofoltt. (B) A3t gloB & MPALE etsh= WA
Al what.

ShA| | Sl 22 B HUR 20| HIHSIIR? D A IS B
s © ol TSRSl MR L2 5ol LAoj Qi B GOl
£ BISOYM 4 QICkD BILICL 1 ERHUS HiE 22 ZEIIN 2
4 9= 20|22 o] BIxRILIC,

» That’s a protein. + The protein was found in eggshells.”} ¥+
AAlE AT B 2 BEo| WE 2 RES aprotein ¥
o 52 TAYHA-+ be FAL7H kel Aole.

1x

1 H7} THOIE StLt MIAIZ Zd0|oh 22{H MY HA M2ilt=
Estzt. J2{H Chs AR 01T Aol HollM M BA
NS ZAES Z0|Ch AIRSIAICE ohed,

post: (IT &) A8 9] AAHoIY 22tQ] £H 2 mAJA]
o WAIRE H7}8k= A. 2 the first thing that comes to
mind7} §HEE|o] AFE-E|3c,

0z M

r
- H
r|r Ti

- N oo st

ol | R010| £ S0l 282 Kol £ B Cf UE eV
DE QEOUE ORI EHX| K| ARSI XI9) G20 A

& ek Jlsio] 48 27 gl

St0l= 2E R0/ S B T

o)
> §elo] 5 A3k 250] S AL Aol ) £AHS ojzo]ck

I Grammar ® Writing p.5ol

1 (1) What was the name of the player who(that) was named

MVP? (2) | don't like dramas which(that) have unhappy
endings. (3) This has been a vacation whose purpose
was to rest. (4) (which(that)) | wanted to visit was closed
(5) Show me whatfthe thing which(that)) you have in your
hand.

(1) Look at the old man jogging in the park. (2) Things
made in Korea are good. (3) Who is the man talking to
June?



(4) | received a letter written in Japanese. (5) We saw a
boy hurt badly at the beach. (6) Her classmates invited to
her party couldn’'t come.

(1) whose father is (2) the email (which(that)) | sent (3) the
same middle school (that(which)) (4) the phone (which(that)
was) ringing

(1) June is the friend on whom | can (2) Do you know the
boy (who(m)(that)) your sister (3) whom I told you

(1) I'd like to buy the blouse which(that) goes with this
skirt. (2) You are the best friend thatlwho) I've ever had.
(3) | know a boy whol(that) plays the drum very well.

(4) Here is the answer (which(that)) you have been looking
for. (5) | had a teacher whose nickname was “Mr. Bean.”

1 (&7 L= 0] QUCL T Mofl= oFat AFEI0| BTt — L= OFst

Abzlo| Bre o] Qick.
> AEAP} AHEro|al haso] Fof7} Eojof sHE 2 22 yAT)y
A} whichu} that o & A3F 2= it}
(1) MVPZ X|ZE 444-0] 0|Z0] RAOIALIR?
» AYARZ} Abgo]al was®] Fr0j7} Elojof stng 27 1
tjwg A} whot} that© 2 4AgH <= 9ick.
(2) simllFo] ob! =atoh= Ak
» AL AHEo| 1L haved] F:0j7} Elojof stEg 327 T
A whichut that© & 23 4= Qick

(3) 012 41= Z{0| 2Xi0l S7jo|ct,
» Its7} a vacationg thAlsts o2& A8-2 TA ALz
Adsfof gk

(4) 7t AU STE 7IAI7H LHZL A7 |ofl 22B3EE o =S UACL
> YA} A0l AL to visite] FAo)7} Eojof SR H3]
2 PA YA whicht} that & 2 3249 4= Qlck

(5) Wl &0 U= AS 2K F.

» YA AFE0] AL haved] FA o017} Elojof st &
AL whicht} thate & HASH 4= Qlck 12 the thing
which(that)7} |2 2 what © 2 v} £ 4= qJch

(E7]) O AP} DFRCEL O BAls 358 ME9eR M It

QU —~ 1SS MBS0 AT JiE SAPt DR,

> ABYARZE AbEo] il was®] FEoj7} Elojof sk R which, thats

#)4 which(that) was& 143t 4= Qlr}. I AP} Flof] 2421

4 PARBAL+ begAbe A 5 Qick

(1) BN T2k Y= A =012 1,

» the old man F]o]] 2= who(that) isZ AjeFsich
(2) st=0llM PHE E2 &L

» Things F ol 2+ which(that) areE AJFsich.
(3) JuneOfAl & Z11 U= X HAt= F7KIL?

» the man Fo|| 2= who(that) isS AY=Fstc}
(4) Y202 M0l HX|E 2t

» a letter ol 2= which(that) wasE AyefFsich

(5) R2l= BIX70IA &S| CHRl AEE HLCE
» a boy Fo] 2= who(that) wasE AJ=Fatct.

(6) 142| mtEl0)| Z=CHE B ZITS0]| 2 4 QUL
» Her classmates ¥]of 2= who(that) were=S AjeFsich

3 (1) » A9 opHAo| L& A WA AR ofofAfoF JhTk

(2) » email & ApEo|1 sento] Ho]7} Elojof shmz B2
TATYALE Wo gtk B2 AN HAL= ket 4= o,

7

+

(8) » 2 ~: the same ~ A18§A}of the sameo] QO =& ¥
BAHE that& 22 Zlo] £tk

=

¢

(4) » I was awakened by the phone. +The phone was ringing.
the phone || 2+ which(thatlis:= 52 ZA |"gAL+ be
FAko| B2 AR 4 gk

4 (1) June2 L7t QX[ 4= QU= ZIF10|C
> 54 Flo] HAAPE 91002 TR A B TAYEAL,

(2) Ul L2t 20 LIzt a2 AES OfL?

» 2 W ol AAAE glen g RAA HAREAE A
A o] e AL Abeslof g,

(3) Ol AF2f0| LiZ} OJOk7 |34 Brad2LICt.

» AR F0l A QLo BAZ A EAL ook g,
5 (1) » I'd like to buy a blouse. + The blouse goes with this skirt.
Aol AejAtelal goese] o7t Eli= 52 A BAL

(2) » AFTA ~: BNLRE WA FE. ~ F Y7} 2|20k youTe
the best ~ AgAfol] X/do] 910 B 2 FA A} that.

(8) » I know a boy. +The boy plays the drum very well. A}t
o] Al#Ato| 3L plays®] Foj7} Hi 52 A HAE o] 8.

(4) » Here is the answer. + You have been looking for the
answer. AHEo] Aartoln A Ae] BHof7} B B
YA EALS o] 83tk

(5) » I had a teacher. + His nickname was “Mr. Bean.”
a teacher?] nicknameo| 2 2 487 A HALS o]-83stch

I ‘% Actual Test b. 52'

1® 2® 3 ® 4 what 5 thatwhich) 6 @ 7 ®
8 @ 9 ® 10 wears shoes too big

11 shehastotake 12 ® 13 @

14 | saw a girl who(that) resembled you.

15 ©, @ 16 @ 17 what(Whatl 18 what—that(which)
19 fall—falls 20 (A) whom (B) that (C) who

1 #ol= 20| 07} ARkl S| 3= Zolck
» A} AFZo| 1 enjoye] EHo]7} Elojof sz 227 Tt
A+ whicht} thato] eFgic
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= 2oiolztn E2l= AFo|C)

» AZYAP} AFgro)al is 9] Feoi7} Ejojof Sl F22] TA A}
whol} thato] it}

HZ2 MAP} L2 Rolck

» come down from ~of| 4] f&] et}

A: EH Hor 7KL
B: 71 812 U7} 5t A1 oo,
> AP} glo.B 2 HaAE Eilehs BT ApE ek

A: ZO A= AEMY QO N2
B: 0|22 &7 AMO|= U0IR?
A: M7t 7HM Eols 2.
» APAZE A=o]al looking fore] H20]7} Elojof gl & &3]
7 A EAL whichi} thato] gtk
® 634I2 L7t 2 A SoIM 7t =2 71=0[ch
2|7t S&ot= 37 |= MRSIX| LLk.
Q@ MYUATL|O{7t £ 5|=0| POt} £[X|R?
» FALo] A7) WA L) written— were written
@ O] AFo| FAlof|A| & Fof| LR 1 ALk
® 1 ol Ab= AFHSE2 HUZ CHgsICh
» ¥}79] 1. what he was, ¥}#2] 17} oYz} not what he

was, #|¢] 1: what he is, ~3FA[t}: let’s, ~of| tj3j4] o]of7|a}
t}: talk about

®
sy
N
Ol
o
S
rr
B
fa
N
Ral
d
;O
(=]

® YTl U LRE ofc] 202
> @ Tbe AR+ 84k +thatd o) 4 WAPES o] &AL Ut
vl A EAel 0, O H44 @, e 37

(70 L7 7I2RE Aof chshAl ZAI00A] Y3LER?

D ORE 17} - 0Ix| 22T,

© 252 1 £50| F AR 2x| 28t

@ Lt 01 ARISS S0l AfRI0| 511 ATk

@ D217} 21 21 HRHE OfEA| MZtiMR?

L7} 2HLED 401 518! 1 827} 12 U 2ol A o

> (2719 who 22 Py Atoltt © 2214 WAL,
©, @ 2BAL @, @ 74 BANLA

10 I 02! ofZt OfOL= = A7 [o|A| AR 2 AS Al=Ch

» The little girl always wears shoes (that(which) are) too big
for her. 18 A}7} shoeso]| 1L are®] 5207} E|ojof sl & 2 7
Al At thattwhich) 2 Qidshe =)i=d], Rizko] 47| ng 5
2 PAY A+ beBAL S AleFatT),

11 2= SHof & o |7t At

» She has a baby (Who(m)(that)) she has to take care of. 413§
A7} a babyo]al take care of2] &E-&|oj7} Eojof slo g =27
A HEAL thattwho(m) = AASHH E=t], WI7ko] 47]oj= &
A A EARS AeFeich

12 0|S0| Ao = HA|E S22 &7 & HEholl M & Zdo[ch

16 Chapter o3

13

14

15

16

17

18

19

20

A: J7t 2 E0tR?

B: SCI0f OfHHRE! BUHES H1oloie!

» @9] it the cell phoneg BH= Zeld] oju] ©9] it thAls}
L AL thato] QLo B & @9] it wAjof 3t

» I saw a girl. + The girl resembled you. AgAl7} a girlo]ar
resembled @] Fo]7} Elojof s 2 =4 WA WA who(that) 2
Azshd ek

@ Hoph L A O1EA XIS X&?

@ =2 Z7H157 &3l A0|2E LollA| 7Rt

»had os}= a cakeS Hvf F= FEAPRIE 1L A o)1=
22 YA R} e

@ 27t et A2 BE HAYO|UCL

@ JH= Lt &7 A= AREOICE

> AAAHE B A T thatet 97 2 5 gick

—She is my cousin that I live with.(She is my cousin with
whom I live.)

©IRSS EH U7t ZOX| HRE 71 22| JH7t M2ZHHTt,

@ OHHX|= HIR7 | ZEALR! EIF7L QUL

Q@ G2 LHE 2o = 5 I ARLICH

Q@ %t EF1 U= 1 HAls =7A?

> HAA} Flof) 0= 8217 AT A A2 4 gick
@ 012101 Uiz} 241 9l0f 3= Aolck

> 227 PAYEAHE ke 4= olr

© 1 Fe SMoz Hsirl 20| et

« U4 A9 A SHE SAoICY,
« 528t 242 A4 iR Zolct

» what they call 29}, AAAHS stz BA YA what

oA 71 =& TR FACL

» A3 AL7} the money©] il haved] H2]of7} Eojof st & 2]
2 PANEARZ} Eojof ghek. AL ¢hof alle] Qlen =z thats
T2 &tk

Liojoptzt ZXo|M E@XMS2E 22 HEE 0|2 ZO 2 Ho{XIct,
» that flows ~ Falls:= the waterE 3t 3= &-&A}do|ck u}
2h A} falle] 4= the watero]) QZ|A1A falls7} Elojof 3y,

SHH2 209 7+ LS ofX| LUE 27t HMSHE Fch 7t st HE
‘OEMNQ7F MEKRX|TL T7t 01§ Lsh| Mol L= 27t =722l
x| LRACE

» (A) A8YAl7} a friendo] 1L talked to2] E2|0]7} E|ojof s} 2
522] #Ath A whomol Stk (B) AAR} Alle]t saide]
B 2jof7} Hlofo} shtLz 24 AT A thato] B (C) 43}
2 Aol el e ojulo] B o] B Al whovt wek,



MeAbol T Bl 55

1

p. 57

Check Up

1 sid E= 2 (1) which (2) where (3) when (4) how
3 (1) the day 5l (2) is F (3) the way ¥l (4) the reason Fl

(5) The place ¥ (6) to know F
4 (1) why they are called (2) the year when

5 (1) the way how—the way2t how = & ofLt AHA| &

I:Ei

how—that (2) for which—the reason for which === why

(1) Y22 o= 7Lt CHEI AIZHE0| 7tM R|ZL =28 Hh=(where

sick or hurt people go to find care or help) =0|LC}.

(2) Y2 17t 2=(when he is coming over) 'Z0|Ct.

(3) a27d0] 227} BlH(why he is angry) 0|07

(4) 21 0{2I0|S2 50| Ab=(in which they live) 22 XIZtAZ Y

sict,

(5) GAlo| th3loll M 258t you won the contest) B

5t FMIR.

> (D~(3), (5) BANAPH o] 11 3 gAPHo] Qhof 9l 413y
AFE o]tk @) AR BAT A7) ol gt

o] gFol] Qi AAAHE: v ek

0[Zi0] 2|7} =tHoj 2T ohS0|Ck

—
—
=

> AlRAPE g el =d] SA went to2] (0]} &
olof st R A RAP} ohet 522 BANGAPE S0i7t

of g,

(2) X717} MAL|047} EHO{ 320[01R?

» AAE Q1L FAPF was borno| B2 FaE YEhl=

AAL Sol7tof wh

(3) 1 HIA7 |7} Hittz et AltE 22l= SR

» AgYA} the timeo] B2 AIZHS UERY = 24

7hok g,
(4) O|Z0| 2L47} At= BitHolCt.

P ARG WARA E S S 4 5 9
/\o]- IVGS—‘] HH:HO] O]—UH:]—

(1) 2= 112 OHHR|7} S0Pkl e UX| 28 Zo|ct,
» A A7} the dayo] 2L A ¥4

(2) T EAMBHS U7} RS US BHe Tolch

» 2017} The libraryo] 1!, #AHAF where”} Q.

o} A42 Lpeh)l= a4} the placer} A2ks]2)

(3) 27d0] 2=0| Z=¢t HiHo|Ck
» the way that©. 2 & 4= Qitk

2A7} Sol

Aol W&

| wheno] A2F=]gick

LAom W
o},

1

(4) 171 047| UAT 0|RE sl & = ANKL?
» X8YAL7} the reasono| B2 A FAL why 7| AJ2FE| Q]

(5) L7}t 2h25tn 42 22 3 Soto| 2uEo|ct,
>S4 visite] 2oz} Elofof SjH R HA AR} oh et =
22 AN YA e ek

(6) o 17t X17| Ltojol| HIsH 0124 HO|=X| L1 At
» why ¢Fofl 41834} the reasono] A2F=|3ick.

(1) » ¢}f: the reason why, 15| ~2}al E2|t}: they are called ~,
HIzko] 1] 7] HL 2 MBALS ket TA|RAE 20 Fr,

(2) » ~ 3t 3j: the year when

(1) = oEAH RS EU=KIE LHolA| Zal FX| LULCE
» WS UERd uff the way how® 22| ¢F31 the wayut
how & % shubyk 2

(2) 27t Wi =OHE HEEH0IRE
> TA AL AL 2291 PARJAL+
zholof g,

D2k
AHB AL ARAret o

Unit 2w NI = p. 59

Check Up

1 A &= 2 (1), which (2) , many of whom (3) , when

3 (1) All of his daughters (2) a doctor, who told me to get
(3) but it (4) because he didn't keep his promise

4 (1) two brothers, who are (2) until noon, when (3) few
passengers, who survived

5 (1) he taught—who(m) he taught (2) that—which
(8) , what—what(Z0} AHx|)

(1) 3= AngelinaE B0l JE= XP7(2] Z=0l ChehAf ofF &
& SX| EULCE
» , who=and she

(2) X[toll 2 DVDE M=t %2 M H 2ot
», which=and ~

(3) R2l= 2LF0l 2= H7|M TEA| 2Lk
» , where we rested=and we rested there ~

(1) 252 149 mte|of| k=0 THE|E i< EXict

(2) 2= 2L H20 05 5 2 AIE g 20| CHALC

(3) 2= 10A| Zofl A7 [0l =&kgH=t]| a2 20| HTk.
P AR BAA ol ok ol ol ek AP
37k ARE AFstel, MBS Tr] 7 shHshE of st
2 A& go] o),

(1) &l M= go| M l=d| 25 25 Z=S 5K 2UCH
> who 9] Bubt glo B2 B3 wa WS gonz
= ]| ok Aot

(2) B0l 2t=dl 2AHHIEI A2t HE S Of MF[otatu Z3UCE

Chapterog 17



FoE wAR A ASH §

(3) ES G el a2 =7HsHC
» which7} ¢Fof U2 to open the bottle S Hh= Al<44] &1
O 2 #ou 2 THEAL+ AL R HHY A ET)

@) 2= A4S X|7|X| LRk, 2240] IS 01 SHLEA| JHCL
» which7} 9Fof| Uh& AS vk A& gHo =z AT
which ¢ €191, Fl= 401tﬂ = g LA ol Axbur =
oA Qo B & Hiztell= YS YERY= because® AJZ}st
+ Aeo] Sol7kd At

4 (1) > dE5Ae] B ot & vt Yoz Wy
o] 27} HRZ A BAWAL] A% A G
o,

(@) » ‘~BIaL AR o B T} BALY] on|e] AR
Abo) A4 BHE 2 He

@) » et ~ o] B AT AR glo] F7T AHE AlY
St PAEARS] A4 g1e 244 Hrk

5 (1) Ron2 217t 7t2%=0| REst Hi0IZ2|LAET} I

PPl A4 SN B4 TS A
57) Q=th. (Ronolekl ol Walrglene FAdos
ol Ronglx] 2+4a) & Bast gick. wheby BAcwate] 4

&7 g0z 2 58 Ut}

e

48
bl

=

=

o
=

[¥
i 22

(2) Ba0t 2HEE Hst (21n y|=stn AkSstahoN F2 F=
ol 3242 2010H0]| SHEORICE
> AR AL thate A4 G0 2 20]7) gh=c),

(3) OI240] THAI0] &t QU= ZiiL ik
> A AL what A A g0 2 2olx] Rert,

Check Up

1 oM &Z= 2 (1) Whenever (2) anyone whom (3) No
matter what

3M®RO©E @O

4 (1) however (2) when(ever)

5 (1) wherever you are (2) However busy

6 (1) whomever—whoever (2) thatever—whichever

1 (1) = Elo| 07| LolAl= SR3IX| SLCt
» BEALAS o] &2 & Whichever=No matter which

(2) OlCl= T3k Xofl e M.
» wherever=on any place where

(3) == D[22 E0A LiZt= AFZI0] 22 7{0F Btk
» AFHol|A] Fo] H3k-S 312 2 Whoever=Anyone who

(4) 2= OFF 2] 0| Hoj= HiiZ 40| MX| h=Ch

18 Chapter 04

» However + 3-8 A5 AH=No matter how

2 (1) M THe7h M= T Ebs A2 S0i|lA] Lol

» No matter when=Whenever
(2) 2 7trE STEX MEste At A28 Zi0)2tn LFICh
» whomever=anyone whom
(3) P& Lol 7ot & HoH =R,
» Whatever7} FAFE-S- o] &2 2 No matter what

3 (1) F& LS ot=X =X 0.
> A
=

k= %ﬁo D& Hof| I AA| 2 et o) efof dh=
o, Y84 @2} of2ict
(2) 2XME F= A0 =T EX| &2
» Y8 ©9] ol 2ol Ao
(3) o A ALE Z012.
» Y8 @9] ol 2ol Alo] o] T
(4) 27+ 2R Uit LIS 7|ct2)2tn Zal AL,
> FolR Tyon g Fof 1 2|2 QHHSE Hol efof 3=
o, W84 @2} o2t

& o[t
I

oy,

4 (1) A: E4| OFA= 2 3U0IR?

B: OtF2| oz sie ¢t Ho|H|2.
» 117k Slo] hard7} Qo B & Biztolli= folita] ~&Hx|ale o]
however7}| &gich
@) A H ATt ESTIR?
B: ol AlZtoll SIXI(EX]) 2MI2.
» A7} AZES B0 B R HITtlE AIZRE YR ZE o]
T11*= wheno|u} whenever7| &gtk
5 (1) » o] ¢lE: wherever, ~of Slth: be “SAF AHE-
() » oFF2] ~all%=: however + 3-8-AHHFAH
6 (1) W 22 =1 20 st= FFolALE e Ao|ck.
» wants 9] F=o]7} E|ojof fHL R FrAo]ojof i,
(2) ZaiLE 0|mI2 OffF Z0|E £ ZO 2 Fi2tst
» that2- SFIAARR 204 ¢,

I Practice Test p-62|

1 (1) where (2) when (3) why (4) how (5) which (6) when
21NM@R® 3 1MHO®ERDE @D

4 (1) which (2) where (3) , when (4) whomever
5M10N®RAOBD 6 (1O @D



> AP} AZHE e,
(3) o O AHES =X 0IRE S0EE E€NR?
» KA} o] §-5 e,
B2 227t o|AtAEst=s WAlS HBIAZIC
H

E
> WA S ek how} ot

(5) 0|320| 2| HOHHX|, ZHL|7F AtA|= RO|Ch
> A4S e A8 ol A4 ine] g T
Rp+ AL R BARALS chAlgtek

(6) =2 2H=0| CHA| AOtLt= A=O|C
> AAZ} A17HE Lebyick

(1) 22l & 2AMH A0 Ab=0| 22300
» o]l 3917 §HAEHA] akgro B a Ho
ulofct.

(2 L HAENM LMo LI2 2FMLS
P P AEeA YO R o R
oL A4 Qlehs ofuloley.

(1) 19892 HISE! THO| R sHRALCE
» AgYAZ} A|7HS LER)+= the yearo] 2 & when, that & T
=le}. year Hofl & 4= Q= A+ BAEALE in which
olct.

k
| & o] gichs o

1 Elof| M 274t
Jaiong 7 ;(]

=N |
=
2 kX
‘_

> AAE L}E}IH‘— the place whereol| A AsYARt A AL
£ % Shb A4S 4 9ok where thil 2ol WAL
ate ARALe} 7] 2ofof e,
(3) 0|0] HAlo| = LIE Cist= HAl0l02.

> HOP‘?;% e+ the way2} how+= whz 291t} in which
YAt the way®} $H7 22ofof gl

210l 26l 7171014 MP3E SJOfHHECH
400 1 5l 01 ol A ] a5,
2 9] wherel= 4 A+ AL R E Itk
(1) » the day o] one] 410,512 A3 Ale] B 2|2jo] oo g,
@ » 2= A7 o B AR whereo] A4 &
2 20 =k

> EQPd], ook PO U2 TARA wheno] A%
s am i

@) » ~BHe AjEe =2 EA0] oujo|m g EFtuA AL

2w Ftk. whomever=anyone whom

3
r|r
1 op

P

(1) @ EfEY MYE 17t Sstwol| eststE sholl Loqktch
@ O] Aol BfHot= AR =71 EX| B L5351
@ =0| 2| iU TA0| EHA| CHAI HAE EF O|FO|CH
> AR QAT AL S eRis howst ofet ¢
1 Yeh= WARAL whyZ| gtk
(2) © 327t MIXFE mHOtCH H|7 2L
@ FE0l| k=0l 7H7[0ll RAS =10 KLk
Q@ +LUS AMHS0| MY m=st HolCk
» A8 A7} the dayo]= = which7} o}y g} when(on which)

olofof 3.
(3) @ O|0| 22| Ot X|7} E0t5H= =Ho|Ct.
> TAY A thate A% oz so

%] ¥t
@ 0f2l 45| e she 2= 2E ATE & 2tz
® 50| 8120 2 0|2 BZ0IA U5k | SIshAOIC,
6 (1) @ZOILZL 2FME AR B3| 1200|2275 2t

7| ZHCk
© 1 oAtz S2IRAE o2 8 AoRh=0 O3 30| siLirt UL
©Brad7t Xt7|2] Af ol chal Z3i=dl 2= J0S i Z0tst
Ch
» @ 9roll & AL ¥h= which ® blousesE W= WA E
Al which © his new job-2- ¥= which
(2) @ 271 Lt A2 FAN0|EX| Arado|ch
@ 9—IEE-|7|. I- 0|O§ EE?‘IIEl—
© oIX|ge 2 J8 HUS [ J= Z0t HO|X| §IRUACE
» @ AYPA}E AHEo] B2 which(that) ® As§A7} the
reasono| =& why(that) © A13JA}7} The last timeo]| =&
when(that)

I Grammar ® Reading p.e4l

1® 2 ® 3 blue 4 (A) whatever (B) wherever
5 which 6 o-lAHél-_T'_O-i_

7 @ which called—which is called 8 sHA &E=x

ol %'%Ha* EOIII e 7 "E'éf 0lf= =2 "ol
S0 Mo o & Ho|7| tiZo]ct
@31t @ 0lg @ sEH © W

H17E 5] Y-8-4 reasono] &gttt

o
TN
=
o
o
>
io
IJHJ

2
0x
10
o

A FETE2 2971 f2 R0l XL T = S0, T2
£ U2 20l U= A0| ofLCt. 0942] OFSCIE2 =0l LiE
| OrHoICt =2 01322 S0i7hs 20|, AF0| Al= R0(7|

4 M| BR HeSE
2ot 152 9|§ o]
Zhlet Ac=gar

0= & 5, 727} o] A
7I%0IKI SR L= g 7]
LH7} ot 3Lt o &5 st

g E’O*Olc’ ‘01E1°ﬂ glEo m ol 2 (A), (B)ol= any
~o] o] B EIRANP} S Ao] Ltk

Chapterog 19



sHA1 | 2tio|t 7ot M2 AEE 0SSt Hofl Stifol= 53
7HOHHE FotH=0l, 7totH7E ol &0l &2 R 27| iiZ0|ch &
Oll= 7HatH7E E4:01 SEIM FALD A= St0IE FZshM F0l=
o, 20|17t 2 ArdS shA £l 7| miZ0|ct.

» ZF2ZE RIZE ok 9= crows$} owlsS ASIALR dfar AR
Al Fr0] QTS SHEL R AR W= BA AR which7} ot
11 501 ft 20| 17 HEX| 20, Sl 142 Sk e
g IR, AIZH ®2f0| gloL] Zilo] HstH Hxiate o
#Sh SE QT £ZH0| US SE U0, 0] Zof E’i!%

AlCHO| AFR=r| TIMH= T AFIO| o0 RHAIO| QUQIC Cf
71 AlCHE| RIcHEE ol&7 1R [eE 27} SESHE 42 2 B
S 24 AW H20IUck

period7} callsh= 70| olgt calledsl= AHo|o g 4
7} =lofof gt} which is calledo A "2 A AN HA+ beSAY,
7} ke callede] e & wo] ook

4| MU E CHIR|= 1452E0] EfOGICE 2= 24220
2le
N

M T 2

v
=

a4l | et=ollM S FAI0] OfL|2} 0l0152| 2 ZHAloloh B
2 O2l0|S0| B 1 245 F 222 Tt J0| si=ZLIFHE
2= 31’1%. EOIE}(% £02 2245 Y1 HE 0| slEUFHE
> S %XJ% WhlchO]‘:'i ok Bxto] Y8 7kA] Yol 343
of g,

I Grammar ® Writing p.eel

(1) Do you know the reason why he was praised? (2) |
remember the day when the war began. (3) | know the
place where you can hide. (4) The way(How) computers
work is simple. (5) Wasn't that the summer when we took
the boys camping?

(1) My sister, who lives in Paris, is a fashion designer.

(2) The people who live in Scotland are called Scots.

(3) Harry passed the ball to Ron, who made a dunk shot.
(4) St. Peter's Church, which we visited yesterday, is very
old. (5) Loch Ness, which people know for its monster,

is 37 km long. (6) Flat screen televisions, which are very
expensive, have a better image quality.

(1) the Internet cafe where (2) however much it costs

(8) how(the way) you want (4) Whenever | hear that song
(1) and | stayed there (2) when there were

(3) because she

(1) I don't know the reason why he told me such a lie. (2)
Whatever happens, I'll take care of it. (3) Please come (to
see me) in the morning, when | will be free.

(4) We can eat wherever you would like to. (5) He went to
Austria, where he studied music.

20 cChapter 04

1 (&7|) 20| 1 ZA[0|C}. 2012 22ILO| 1 TA0A S22 ZHo|Ct.

21E10] 2012 SRITO| 2 ZAl0|Ck
> PAFARS WA T S T R R Ashs wAlolTh
0

(1) 27t FZHE2 0|RE OFMIR? » the reason why
(2) THo| A|Zt=l S J|ofstct » the day when
(3) o] &2 4 U= HAE L0IR. » the place where
(4) AFET} RSt HAI2 Haditt
» 1S Uel & The wayt How
(5) 22I7t 1 'gXtoto|S S Aol HIHZIE w7t 2 6E0] OHRAN

)

» the summer= AJ7HS YER B2 A A} wheng: Fst
o Fck

SLte= mt2lof] Ab=| o4 CIXto|Lo]ct.

» UL el glo B shyE Ia glo] Al
2 gk

—
—
=

i)
o
i)
o

0|2tz Sk

(2) 2ATEHEN A= MHE2 AR
FHgsl Fofof sk FhgA g 2w

» o] ARFERIA] g
k.

(3) Harry7} RonOi|i| 1 B2 THAE=H| Ron0| Y= 52 FHCh
> 3S wj dobd Y gp 3 Ao|HE Al SHS A
k.

(4) 22l= o mle 130 x| 2=l 2R2 iR 2eH=IACE
» 139 o] Zo] AAERo R g Ha glo] Al%F &

= 29 H

(5) UIA B AJ2HS0] 1iZ h20f k=t Zo|7ta7 ZzolEol,
» 5429] o]go] Ao n R BT Wa glo] A% &
W& 2 e

(6) TP HallulH2 0 HIMRIE BAo] o

> WE B W) o] Sz 3l

inj

mk; 0|'|')|

_,_

| &
i 15 gl A4

(1) » A=Y 71 = o] B & A KAl where S F3H
(2) » oF-2] ~%&: however + F-FAHFAD
() » ~ W40 2: the way(how)

(4) » ~ wjujck: whenever

(1) LH= Ql=0f| ZH=0 747 |M 5t 27t HEFCT
> TAEAR] A4 A o] B R T GAR+ AL E vHY AT
Het.

(2) R2l= 7120 R 2= 2= H7|of 2S00l 5 o A
ALk
» and ~ then #A 54} wheno] Al&2 o2 vby &
4= Qltt

(3) AIEHE0| 1 QIo|ER|AE ZE0t6t=0l a7t e TS| W2
(o] =2
> LA EALY] A4A So|u g THGAL+ g AL R vl
of 2r ¥k



5 (1) » 9 ~3=A): the reason why

1 ARLS 51} tell such a lie

(2) » F-<& do] Uofip: whatever happens
etolx] s}t take care of

(8) » 24of|: in the morning, 3t7}5}t}: be free
wheno| FojH o B & ‘Tufj=2 FAKAL whene] Al42 &
Ho g gt
» ojtjol| ALt wherever

(5) » where7} o} .08 A7]ol A= 244 whereo] 7
47 o2 Falgi)

I x}% Actual Test b. esl

16 2@ 30 46 50 6@ 70

8 @ 9 no matter how 10 that(in which)

11 Whoever(whoever) 12 @ 13 @

14 No matter whathesays 15 @, @ 16 @, ®, @
17 However— However loudly(hard)

18 them—whom

19 June has two cats, which are black.

20 The postcard | sent you was written on the top of Mt.
Halla.

1 347t ef a™A 717t U=X| 2ERC
» the reason why

2 EOMHX|7} OXHE FESIMAM SRACH
> =

!
ok 274 WA 2 ¥ which

A: 9lf XE 07| 2 Hlzepoe?
B: %, [320] U|7} EHO{F 20 [OF,
» AP} AaE UeEPY 2 &2 where

4 A 0= Z0| X &cHole?
B: 0 Z0|E £2 Z2 5HMIS.
» likeo] Z-2 o7} xlojof 311l bedE A= 2 whichever7}
ol—\:ﬂ—r/].

5 » S Yeld g+ how, the way, the way that(in which)&
AH8-5FL, the wayt how= Leds] 27] Qh=tt.

6 (270) 2= FZ0] ZA=, IS 2 AA0|UCL
O o= R2| 277t M= B2IS0|ch
@ W Tt ZXE R T2 WA LT HUCE
© May7t 52| AIS M=0 11 & 0X|2 20| MY ZUCL.
@ U= 2t R a2 Toll {ch= ofojo|ct.
® EHIO| St=0fl A sHHS [hESHA Rk
> (7D, @ % £48 W which, UrAle v ol Qe B

o}7} AggAtolct.

7 OJxo0| 2| £2Ho| &
» Aas vEd g
place, whereZ AR-g-3tt}.
ojof gt

55t

o|Ck.

the place where(that, at which), the
® AR} thate: Kt} 7] 2

2 F Y Xtz ol
Al7HE YEeRdE = the day when(that, on which), the day,
wheng& ARE-gTh @ BAFAL tj4l 2491 THRIAF+ TA T EAL
= Aot oA 22ofof it
9 1 9JAk= OFF2| D= SRS WELst 0|A R SHO[RHICE
» however + &-8-AHE AP =no matter how

10 st 2=Zo| B2l shE 7(HsHe?
» the year when2 the year that, the year in which& v}3] £
% qlek

11 « S70H S0 H2 S22 4 S HolR.
O|NE FFE MY "._"H = AOIA FHIL.
» A1 WA Z1L aske] H2ojo] =2 whomever, whoever & T}
SRR = HA 212 comes o] Fojo] 22 whoever?h Frf.

12 L7 otza|z7tofl 7tz
0] A0{MolLCt.
» whose7} A1 HEAF B Q glok o 7|4 = its &2 sfjof 3tth

0] 3t 0IR Bt 7IX|= ofZ2|7t SE0il 2

13 T2} x| S Seigaln Ly L S ;% ke
» TA A} which7} @9] it tjAlshs Aoz
Ao} gt

14 » ~7} £ 28 5171: no matter what ~ say

15 @ 3 5= 01S0| U= J= EE3UC,

» BAH YA} thatS A2 8110 7 #0]2] ¢k=r}. that—who

@ 27t oI St E JEU=X] 7 (Aol 27

@ 1 Op7|= ti7t 1w 3730] Al&si A 2= OIFO0ICh

» AgJAF glo] whyE thAlst= for whichyt & 4=+ it} for
which—the reason for which == why

@ == X Holl Al= A2 2Fs| 2Xt Zo|ct.

® ofClofl UHLE EUA| X|Lh= AFZFSO] QT

16 @ oA & 5= O HotCk.

> 5242 A EAL = A 4 Qlek
@ 1 Mu|el2 227t i 2
> Al A GRS TA T EAE

Q@ 712 =St 7|20 Xi2t= d_'colt.
> BAFAL AL 2891 TR|AL+
of 312 2 the place S *JiakO}fq J %er

@ 255971 2445 Afsls Hg U2
» X3YA} the way Qo] A FA] that £
® LIS X3S ot 2 HO=2 K| RE HollL.

> A3PAL the day7} 10 B A SEAF thate: AJ=Fed 4= Qlok

Wt} ) 2o

17 OfF2| IAE NS ABIME OFRE CHEOEK| AULCE
> Thowever + &-€-A(EAY, 70|22 hard, loudly £] 3}
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19 June2 11

7} However o]l So7}of it

27| Hhof| 3530| SHA0| Ql=0| 1S RS i CHAESICH
» 2} Hof| Fojo} FApL glong HE ddsts FE5ApL e
3}al, students7} HHEE| 2 2 474]1211131/\} £ 2}g-8}o] AAs|of st
t}. wf2bA] themS whome] Ejojof 3t}

0|7t = ot2| =0l = CF ZZAKolch

» & oh Ao B2 S Do glo] MAIHEARY] Al A S
o= wgsty Hek

20 SAof|A = Gl statat Zo7 (oA Kol L.

> o YGAIQ1A] FH 3
o7 gshy gk

Zofo} ShELE TAREAY] AAHA 8

—

3

22

XA p73

Check Up

1 (1) a few minutes & (2) 4 am. & (3) 2000 ¥ (4) Monday &
2 (1) at (2) on (3) in (4) until (5) by (6) during

3 (1) for (2) from

4 (1) after using (2) there in (3) at 3 p.m. on March 2nd in
5 (1) by—until(till) (2) to buy—buying (8) During— While

(1) 2Bl 2 2 S0l me Holct,

(2) L= FRII0) SUKISH AHS 4AI7HR 22 2ARICt

(3) S2l= 20002E] 07| At QUCt,

(4) HEEO| ARAZARISS FRULE| ILANIK| Ystct,
> AR AN ol ARk

(1) TS oAloll YL AlRBICY,

» at+ Azt
(2) 22Y M40l F= A=SIMR?
»on+ 54 Y o, o
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Check Up

1 into, through, on, next to, under, in front of

2(1N®RO©E@@®E@ 3 (1) at (2) between

4 (1) a drive along (2) above the trees (3) the next airplane
for

21 (2) along—through (3) below—behind
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I Grammar ® Writing p.82l

1 (1) In spite of its danger (2) in spite of their mistake
(3) because of her selfishness (4) Because of his help
(5) during my stay in Rome (6) During his youth

2 (1) for inviting me to the party (2) on your T-shirt (3) so
she went to school by taxi (4) below the knee

3 (1) Do you take milk in your coffee? (2) | drew a line
across the page. (3) Are you going home at Christmas?
(4) May | write with your pen? (5) I'll be ready in a few
minutes,

4 (1) It's a book for children. (2) Where do you come from?
(3) Many people die of flu every year. (4) He looked like a
grandfather. (5) | eat anything except dog meat.

5 (1) Think about what you are doing for others.

(2) Afternoon tea is a light snack between lunch and dinner.



(8) I used to ride my bike along the Mississippi River.
(4) He just went straight through all the stoplights.

6 (1) There is a wedding in the church this afternoon. (2) My
father hasn't been on holiday since last July. () A man in
a brown suit was sitting on the bench.
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16 many cultural differences between Korea and China.

17 @, @ 18 on—in 19 before leaving

20 because of his late arrival

I 4YER2 20l BHert

»in+AE

1 Il MEsI|E ofzfofl Qick

> T17E A obel QLS 4ol gl down o} ol
WEES LR e below7} HEles

O AUXIE aTlOR CHQ, ZIZ SHIR?

» with+ ¢

A: K| O] X|OHE &= 4 USTIR?
B: Ui OFE7IX|= 2 ALk
> ol i AlFo] e PR by7| Aotk

A: O{C|0l| A 2N 2(0{E| Z4I0MIR)?
B: 22E0IN S{L(FA10[01R)
» come from ~ ZAlo|t}

» A5}tk be absent (from school), ~ F-€|: since

@ 78 1ofl ZoiH o] =k

@ 1 715 19900l SESHC.

@ O] AHE XHE Zo| st

» to cut this appleo] ¢l ¢l+= a knifeE o] &4, ARk
£ 2= =15 YeilE AXAL with7} wAck —to cut this
apple with

@ OtAL|ZIZ H|2lotil= OFF 2t HX| Q=L

® J= BHES SH6iA 07|12 RiCk

@ O= 42 7122 &l YA ZiCk

@ A9Hlof| 712 & A0iR?

Q@ = o WRERIG|0of| EHO{ T
@ = OHIbM 747 10f 2 4= SiRUCE

» because of + =%, because + &

® Lt= X[t 2o AT 2L

28| Hok= xt2 E3BICH
> by + 2T

10 Al 20 252 X|HF0| w222 ZACt

» on business AFx}

Chapteros 25



11 (27]) =M Djetsi.
@ OHHX|Z} O{HL ol A BEXIS AbZ=AILL.
@ A5 7Hs A o R?
f2|= 0| OF20f| o421 ofimf &2 ATk,
@ O= 2 & MM AMLEUCE
©® Jld= F+E F AL
> (H7D), @ ol+& HERl= for

12 + U 2| SRt ST
« SEE 2Ol02 FHAIZ0IR?

» look like ~ A& Kot} would like to ~&}a1 Al

13 0421 sH7t X|LET LEMOF R2l= 12| 20 theto] SUC
o M2 0{210|Z0] ot= 2|70l A FOIZ T ULt
» hear of ~of 3|4 &t die of ~ wjof St}

14 57t 22 FE2l= A2 S L= HeE Mzl /12 Zojiict

15 MMES ALOJOf| A ZEFRQI o742 X2 2 o] 5t50| ZRSICH=
Ao|ck

» The general opinion©] F=0]o]3l among teachers+= 151
o] 1 Fo|nz, FARe e Folo] WXAA B4t Hel
of g},

16 » 3=t} == Alolof): between Korea and China

17 @ L7t Sl S¢toll L AE S0l 22 & =+ UAMe?
» during + %, while + 4, during— while
@ 152 S22z Al {Ch
» in spite of ~o|| &= &3]3, spite of —in spite of
@ X|0}E Lot FXIotz{H A=0iCt 0| HoML.
@ F7t M| FH2 = o SHZUCE
©® 2L ME7IX] 2 Z20[E(02?

O

=, |
=

ol

rlo
2
]

Ms0| 8t 79

i
ot

Aol |:|-_

El
+ Mo

o g

18

]

in

v

19 ML | Fojl QX| 21 FXIE EAE0| BHESIMIL.
» before= &AL XA & Th R 20]a1, HAA} tholl= ()
YAt 2.

20 J= = SAGHA O 230l &1 2 giRIct
» because of + =%, because + 2

6

Thage T, 7 TR b1

Check Up

1 (1) had, would buy (2) had known, would have visited
(3) were, could dunk (4) will she earn (5) had not forgotten
(6) Were 2 3iA &=
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1

3 (1) had, could email (2) Had (3) Without(But for)

4 (1) had come, could have taken
(2) Were, would take care of

5 (1) didn't leave—left (2) went—would go
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2 (1) wish | didn't wear (2) was not (3) you went

3 (1) had (2) were

4 (1) | wish | had a wife too. (2) as if | were crazy (3) It's (about
(high)) time we returned(came back, got back) home.
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I Practice Test p.94l

1 (1) were, would go (2) had been (3) were (4) didn't have to,
would join (5) told

2 (1) were (2) had, left (3) went (4) had (5) had watched
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2 (1) O= 0| X7 (74 0 17| U= XX LSER2E 2-X] 4ok

» but o]sl Ko} 324 AJA|9} UX|sh= AlE 7HEslE R
as if 7w 17 Z7o] wojof gk

(2) 2 TS wLEX| pQtratH £ i),
» then @ & Ho} 3] ApAo] tffgt ob4lg-& Ut I wish
7HEW B kR Zgelefof gk

(3) LM AHEH 2A[0[C ZEEXf2|0ll S0{0F & AlZHOICE.
> It's time Flof] Fo]7} gko B2 A 51A] o1 dof Tigh
e Ut Its time 789 27 #7o]oof gl

(4) Tt SHRTHO[2HE CHA| Zimt 1jE 22 Z0[H
» @A) Ao TEE of4] 22 YEl = T wis
“golofof gtk

(5) 4= 0Fx| 2 HEHE Tofl 2 2XZ it
» before= Hol 4 A|A| o]Ae] A|FE 71get & as if 7}
g AR EAgolofof gt

=

F

[

 jo

=

=
o2
iz &2
i)
A9
Mo

3 (1) 2 32 0fX| Q1% ZeCt
» A AAS} RSk AIRE PSR as if 7Y 1A
EA}o] wojof st} as if 7AW 1o A% beEAF= was,
were & U} & 4= Qlth

(2) 2= OR| RE QAUAME BSTITHIACH.
> as if 7P A SRE T80 AR 9 AIAIE LER
BE 280 SA @47t 8 S o1, 37t S gk

0

(3) 1 2JAte] =20 SiACiEtH P42 =S |,
> o] 7hg TSROl T, hEA ~o] gigidiebee] o
ofok 3t} @2 If it had not been forof|A] If7} AJEke]o]
ofo} EApF =X\ Aol

(4) O] b= 22 RS JTHF0{0F  MHO|CE
> WS4 IS time 794 314 3] of &Rck. when %
744 Tto] el vt e gre:

4 (1) » o]V D& ae e =2 Twish 718 77 Lotk

() » 77 AAISh AAFH AIES ASIE as if 719 7]

7} gt
(3) »it's time Flofli= 7HgR] 2A7}F 2t
@) » A AR RIS YeR B 2 7 3kA7E gk

5 (1) QU & o USSRz
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2
Ol
njo
iz
il

mo *

@ CHE M-S0 MAUS Sal= 22 J2teHoF & mjolct.
» It's time 7 1A F4bo| Hojof 3R = stop— stopped
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4
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® 1= 0FR| K| 91 243 TS AC
(2) © UI7H ol o B SACIRIR 048 TE 4 UAS H,
@ SHAI0] GICHR L= AOKX] RE Aol
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Q@ L7t XIZ o7 |0l UX| et £ Hid.
> nowz Ho} @A AFAo] Tt ob41g-& ez T wish
74 kA 2}ok gkck had not been— were not
(3) @ = OX| LIE LUE 2K LhA| O0]A XL
Q@I &7 ME o 7|87} UCHH 117|318 &S Hidl.
@ oMol J=A LO| HX| EUSH £ Hid.
» last night©. 2 Hol I wish 7H4% Iz 7} Fojof gt
didn’t eat—had not eaten

6 (1) L7t U o™ == Hid)|.

1 wish 7P T @A) A chat okl vheh
2 Lwish 7P 3749] Wgo] 4ol 2502, 2ol
YO WP A FAFE 2 .

(2) 1 gtz ORX| 022! 2R L
as if 719 T 2 Ak AASHE ARG ZPRiT
wpepA] BIZbol= 3 AAZE 3 as if 49 singlest vrefs]
& o] Solrjol aict.

(3) TH7H=X| LUACEIH R2l= A7 |0fl o YR Z £ AAS i,
» 7V TR RS TA Aol Y ik
2 Izl g4 ISR Vg3t wichslA) vt 2
FAP} om Bk

I Grammar ® Reading p.96l

1 If 1 were a poet, | would sing foryou, 2 @ 3 @ 4 took
5 (A) without (B) were not (C) were not 6 Al &E

70 8 ERE XS

1 oAl | (LH7F BFY AJQlof2tH Tl {fsh elistzlo]) 2ot Zoll 2!
O{ZI0t0| X Lt S=SHA| ealiot A0, L7t B 2E0[2hH 1
PlaH 17t =700 B2 HEZ0l ALY M Lt AlZSHA LH2| 401,
— Li7 BRI (Qtx|=t e2l)

» S o] MR Aol g T ko] EAE Y 1
A EAf+ 0] + A FAL Fo] + would(could) + HAMLE) S
2 474 Hr

2 sliiA | o 2EE S M7t AR 71 HAo] slIgE UR ROl
SilA2t ZRICE 19500 O|Moll= E18 5 S2let 7HEez te
ATk H|7} 2 30| 2= WOFSHAM ©f SABHRICE 2tef gilo] 2

32 2|0l o™ P42 MA S QUL
» memory loss, heading the ball too much= #z|e} A= 7
9 o 4= ek
3 SHA | Kevin: 2| 7HE 257t LHE OI9dsh.
Kate: 13 At ZOHHXIA M 7HES RESHH =74
Kevin: Ml 7}&& #lst= 71| OtL|of. th 7HE 22 A2 ERsIX| 2ot
' T2 ARIKH ZE304.
Kate: 1 20| ZI4I0| OFL|Z HFZITE 1|7} LHY OFRlol| LOfLEN 7HE
0| 5Ltz QICHH H 2 &5 7{0F.
=2 ig

»ubxo 20 2 g WA 4 9k




siiA | 852 ghlel 0| "G4 AHE S& mol|R!"2 . Ysh= o
AX|YLCh HRE 2 A EE)= ghloiAl vtz 2
g7l & 71218 JLCh

P §Z0 2 Fo| AES M Aol B WA 54 g AL
ol yjgolot uheba] 5 Qko] FAR= It's time 7 27

o

2
2
|.|'|
ok
o
A
=}
S

sl | el A 80| A 4 GiCt AIBO| BTk P27t SEE A
AR G2 20|31 S 2= YIS HOIh IHOE F25) Lhwx| o
i3, MBS 0lA5k & 55 C12 of

» (A) with ~&} $H7A|, ~ 7% 12, without ~§lo] (B) F4o] 7}
AW ZAolaL WAL ~o] gith|'e] ou|7} Elojof sk R If it
were not for 70| oo gt} (C) o] 77 o] ¢
oAl SERE A eJof] U & F7hekaL Qe B 2 bad enough=
A= were noto] gyttt

=] =
Z0[C}. L= R{CH3H AfZol & Aolate dztsl 2 o] gix|2t o
LH7} QICHEE AFREQ! WM ST 4~ US AOICH L= O LI AR
0| & A0IC} L= CHE AFRES =2 AO0ICh L= 01X 2E ARO|
L AR A Harz 2 ASE Ao|C.

»UE A FEoA were Flof AR e ol Ql a great
mano|1l as if 7Y Iro|m g ‘npx] ~Ql ZAAH O 2 345
A Hrt

o

B4 | t

M) S S| HE2. 1, 0|2z ME 510, WY A HES URICt Pitt
2010| IZ(Pitt M) RCIL| ZOAto]| A LFACE “MIAfOll 27HPitt M)
A 20|HIR. I7KPitt M) XM2A Zof 2 & AUTiatH ofz] 5
ol 22 e il

HOlAPt Pitt MIE EE5I M2I3Ct I=(F2AAD) I2|(Pitt
o =
=

a4 | & & Of2HOll A ol LHR7} Bt 3= XRtCE O LR E S
SIX| 20tM SHIICE “Q! L7t CHE LHRSTE 38 2 Hidl. a3
2H 7IXISE AMYe = 0 Br7|oll M H2 Ml ot = Hil”

> D& FAFFE B3 ool oha] Foloh EAPE EXIE Aol
@ o] 29| Z8 AAR] W, O~GE LR B g3t A
o @ 150 QoA HA| APl that o4& e
Twish 7144 317 @, G A Able] v 7hgel i 71y
o],

I Grammar ® Writing p.98l

1 (1) If he were a student, he could get a student discount.
(2) If I were here with my father, | would be happy.

(8) If they had had much time, they would have come to
see me. (4) If | knew her address, | could send her the
present.

2 (1) I wish | were a genius like Picasso. (2) | wish | got up
early in the morning. (3) | wish it were not raining now.
(4) | wish | had listened to you.

3 (1) It's time you lost (2) as if it were (3) It's about time you
cleaned (4) If it had not been for

4 (1) Why do | feel as if | lost something? (2) | wish | didn't
have to do my homework. (3) If she had believed me, she
would have lent me the book. (4) It's high time you studied
harder.

5 (1) If it were not for(Were it not for, But for) the coach
(2) he given up his dream

6 (1) I wish | knew how to figure skate. (2) She talked to me
as if she were my mother.

(3) It's time you planned a holiday. (4) What would you do if
you were our principal for a day? (5) If the weather had
been nice yesterday, my family could have gone to the
baseball stadium.

1 (&7]) L= £mTHo| OtL2tM CHE MIAIZ Zotd 4= gich — LTt
IO |2HH CHE MIAI2 ZotZ == AUS Hil.
b ol B4 FPYHOR B BAlolch ot B0 w
o A FPgshs AlolBa Foldl Bago] SAolul by
A R0z, RAo]d 502 ubglof s,

(1) 1= S0 OFLI2HA] S BI9IS 1S 4 girt.
> B ALAS] S e Y S Bgos v

Ak

(2) ofeixiek 0171 &7 2% 240bM 5K Sict
> WA A WS el 7bg ] B0 2 vk
et

() 252 AlZIO| x| Q97| th20l LHE BB 9 elgic,
> 37 AS] WS Uehiis 7hgd BASkE RO bt
e gk

(@) Ll= 39| FAE St JHo0lA M2 2 4+~ elct.
) AP HIThE Ll 7bgY 3] Ao ® vl
A

2 (27]) ADEEE0| oM RYOICE —ADEERO| o £ Hid|.

> @A Aol Bigt oble-& vrEbd wi= [ wish 71789 1A, 1}
A o] T3t ob4]- T wish 7} 2pAAE S 250
(1) L= Di7tA 22 Hx{7t ot FZO|Ch
(2) OtZlol| U&= UO{LIX| 22OEA FZOICE
> (1), Q)= @A AHAel gt ob4f&& UE == T wish 7}
A 372 nA ek,
(3) XIZ |7} M FZOICE
» it is raining now”} 7HW] 2kA7} E]ojo ah=d] 7|l
Al besAH= were2 HHELZ it were raining now, FA| A}
AT} g 48RS Ysk= o] 22 notZ Yol I wish it were
not raining now.”7} =ojof gttt
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(2) Oz X7 IY0(7t OFX| Q171 24X CHSIC,.
» wereZ} ol L, A AIAIZF EAo| & as if 7PN 2}
7‘1 7}_ O]—El]—]:}—.

(3) Ul 2A0| Yoot O|X| HAsHOF & miof.
» you$} about timeo] Foj% 0 B 212} 517 9k o]
3t Umeke L It time 7149 117] Eabolojof ghl.

(4) CCTV AARIO| UACHH, R2l= O =552 K| R34S Xo|ct
> Ze2lo] 7bgu] TPk, ife} for7t FojROH R o]
gloick’ el elujel If it had not been for7} &gt

(1) > 0] ~Q) AA: as if, @A 7150 v Ak Gepn
2 asif 7H9% A £ 0 = A Hok

(2) » FA AHAo| o3t o4& UE R R T wish 7% 144
B0 2 A ek o s ArF="2 B Qe

() » A Aol gt Wit E 7Sk Ao B R 7H gL
R ERoRE »H Ak

(@) » o)A A ~8 wjck: It time 714 347

(1) ZX|7} SictH 252 0fZi0to|SY &0|Ck.
» Without t}-&-of 714 347} ko = 2 If it were not for
(Were it not for)u} But forz v}t =c},

(2) 2= X7 B2 Z7[oHK| §UCE TN T= S
37 ARl Tk i) A 7Ptk glo B A
AgE T4 2 A El=d|, I if7} Ay2FE| 2 Had7} 5
off.0.8 i Foloh BALE XA Aok Btk

(1) » B ALA] Tt o182 LR 2 T wish 719 7]
F2o g »i =k ~3F= H: how to ~

@) 89 A9 AT NS AR e
Aol utel AXY g Aol B &) as if 7P oA 2o R
2 e,

(3) » 1A ~& wjck: Its time 714 27

(@) » B APA12) Wi APt R g T B 2

(5) » T AP RIS 7HSIE R 7Y A ek 2 &
 Feh

I % Actual Test mool

1® 2 werewas) 3sod 4@ 5@ 6@ 7 ®

8® 90.® 10® 116 120

13 Had World War Il ended a year earlier

14 @ had not woken me up ® would have overslept
15 it had not been for 16 were

17 (A) belonged (B) picked 18 Were | a woman
19 | wished | had had a smart phone.

20 had not dropped the vase, it would not have broken
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X3 E2otX| %M H= stuof =2 Ao|Ck
> 789) A7} fefol At ifHo] 2718o|u 2 vleje] dofehe

ZEXH AA| = UrebioF star, Y-8 don't leave7} &gtk

J= OFx| 22X MY oA %2 ASS ARRUCEL A =

EX7F oA

> 89| sk YABke NS ZPYstE R as if 7bg T

olojof gtk begARY] AR S A9 Hr.

O[X| 2| OFHX|7} XHE Zotof & WHO|Ct OtHX|= 1 XHE 121H0]

g7l 2%t UCk.

» & ~Fojof Frk= ow] It's time 7HIW T}A ZAololof
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A: 2= ol Xt RXIZE 22| Z 7ot

B: 2, L7t H2HH 77 [0l 2Xt 7 HX| 42 Hil.

> AR AR O R kS bl 7PN 1A 2rdelofok gith
'%'—M’” |AL?

B: X|=&t £&0[0k M2[7t gleH Z3001.

> A4 o%“’ﬂ gt Qtep7hE& Uetdi= 1 wish 7% oA &2

Afolefo} gtk

@ O™l ZXIz|oll S AlZ+olch

@ L= Ok 8#= A 2Lt

> A A YA A 7HYSHE R as if 7 2

FAFoofof gl am— were

Q@ L7t £EotH £2 Hin.

@ O 2RS LUCEIH 2| SHK| LUS Hid.

» A AA &= Hot kA AFL O Wit & ek 7R AL
FAo|ojof 3tc}. knew—had known

® 20| giCtH OFF A= 4 4~ g1 ©in.

ol % A Aol Tt o}418-2 LR EE T wish 714
37)gt Baoletof g,

OI

O Ul R &2 Lol AH 2 Hidl.
@ Gtlo] Liet Bt ZHTHH, H7[0l ZAL.

>

@ Lt= Otx| ol {lef 7t 22 7120] SUCL

@ L7t H2tH O 22| AS K| 22 Hidl.

» @ If7} Aer=l 7HA 1pA EA4Folch will not wear— would
not wear

©® 7} Attt 22 oix| 4= Hidl.

O Z7loll Z2|X| 2oH =

@ O|M| 27} M3feh ujo|ct,

@ HHH] QIS0 ZImt O4Xt2HH (7[7}) 6LIEY Z0|Ck.

> A AP WS UebE 7Y 3 2ol A TE7E whg
o} If2 22 ul ool WAL}, IS AjeFslal Were a Barbie doll
& Z2)5hH Hok (19 E: 30.48cm)

@ A2 OFRAUE ST XY EAULCL,

©® 1147} 21 AUCH OfH| S 4 UAS Hid).
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11 GXI2tN B=6K(2E 7182 HAtH
> B ARl T ok4l S et
olc.

12 A: Ofxl| ff stuof 2F 2to{?

B: OFR0]. OFIR| QI{Ti2ted Stmoj 242 B
> 3k7) ApAle] uhe AHS LR Z1AY sk Eaboloob

st} (© was not—had not been

13 » 2 ARdel] gt ubl A YERER TP AR &
Zolojof ah=t] FFojzl Thojol If7} glom & 1f7} ks ol
T ge= of gick If World War 1T had ended a year
earlier=Had World War Il ended a year earlier

14 » 7 ALY Nt 452 VB2 7hg TR 2 agolof
of Bick,

15 GO E2 7 YUACEHA ' 1 AHHol| thsiA SRS Hid.
» o] 7P A gkRe| B2 ofuje] Without2 If it had not
been for= v}o] & 4= it}

oIIH

ZCt.
A |
=

I wish 7139 34 &3¢

16 » 1= RYsHX|7| ™ol okx| &
o 5210 giCtH 4f0] X|FE Zo|C f
» A A 22 FEY AA
if 7} 744 2] werel} was,
o]= & If it were not for.

-mJS

17 June2 E0|st ZE iCt X
ZE0| otxl O =0] x| 22l
100224E FRICt

> (A) 83 22 AFA ‘?ltﬂ Agolu & asif 7PdH 3A £

Aolofof k. (B) ALl T Aol re 37 Aljolofof e,
18 L7} OfX2IE XI0HS 22 4 US ©
> 7R B o

19 Li= ADKE 20| g0k 0L,

> ZHA ARl thgh ob4lE-& UeR 2R T wish 71789 1A 2kR
= 2Lt ol EAo| was sorryE Eo §le =& wish® 1}
ﬂﬁlii gfjof gtk

20 LH7HHojai A 20| 7RI
> TA AP R S e R 2 7P AYE &
of gitt

27t H2| 0717 (0] UACE At
& 7IM7E7| AERECE JHE A2

Holo]

URX| 2} ey

Check Up

1 (1) you 2 (2) the talent show & (3) a deep meaning &
(4) download 2! (5) destroyed &

2 (1) look (2) is (3) is (4) has (5) is (6) produces

1

3 (1)is@)is
4 (1) Neither, nor (2) Most of, is (3) The lazy, look

=

5 (1) was—were (2) is—are (3) 0Ast 2 QI=

> AR 91312 B B0 B 2 Fof Hof o] 2l Hck
(1) HIEIZI CE HoH Z7| ofj2fof| ==0] Elch
> S} o]
(2) OFF* ZXLE £ HAPH HHE & STAEF K20 A &340
» who ~ cap2 ] The mang 0] &= &
(3) 7t 5t 2E Holl= 72 2o|7t UCk
» (that) he said= 5] Every word& 410 &=
(4) |:M|0 —rolo

» that ~

Ch287 |2t otH FL|Ck
do= Zo} AllS Fo] 1= 9
(5) mERO| 2/57} 20 BiCh

» of the vineyard: Two-fifths& 1] &=
(1) XlotE Qtel B2 AIZHE0| i< mlztsl EolCt.

» in the subway+ ¢ A lot of peopleS 41 =t}
(2) 1ox|0| l=0.| ol'— OAIO IIHOD‘j 7!0“

—o

» that contain fiber= foodsZ Jtm 511

o||}>|

tlng foods7} 5=0]
(3) ol 57 A&LICEL 2= Ho| XIF 018 7
> every (~)= Th FEiCh

(4) 1S 2x} xf2|7} &L},
» each (~)= o= Hg3ith

FSEUCk

(6) sl= =2tolELt =T Fo| oiLi7t M= AESSHK| =t
» either A or B&= Boj| SALe] -5 UX|A7It) Boj sfjd-a}
= Zlo] one of my programs?Id| of my programs: one-
] F wo] 1 2 oneo] FA12] 48 2| A7Iek,

(6) == ut= F0lM ~&t0] ot} 71 S2E 0| 22227 Zio|Ch
» mathematics+= 7}-& 0|50 & th FF3ich

() A: 7+ S2UCHD MZI5IMR?
B: O} S2|X| LUCHT MZIHS.
» one T4 g3tk

(2) A: 2 A= HOtLf X5 T E?
B: 201-01“'1 30—.'_-DH:|'9..
A:0f, 2022 HA 7|ck2|7|ofl= 2! AlzZtolof| 2!
> 3hbe] AL ER Alzkol B2 T4 2t

4 (1) » Ax BE ~3}A] ¢t} neither A nor B, Bojl SA1] &

A A7k

(2) » T E-E-2]: most of, the newspaper= Tt~ Z|F3ic)

(3) » ~3F AR the + FgAh, ~ AT EOINE B5Y
A Fge.

(1) 2 LIZ Foll M = FE2 APSE|A =O|X| §LRUAL
» standing ~ tree= 0] The bearsE 1 FH g 247
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[Unit2 BYTE

1

32

AP efof g,
(2) BE2 ARIE0| 19| SRS Tfatn UcH

> Ta number of + 4= WA}0] 22 £4:5 A} ofof gk

(3) A2 H=E2t OFLI2t OF0|= A4S AHHARYBICEL
» not only A but also B&= Boj| 5ARe] =5 AA|AZIck

p.107

Check Up

1 (1) was (2) close (3) had noticed (4) had told (5) fart
(6) was

2 (1) (that) the strongest muscle in the body is (2) (that)
Velcro was invented

3 (1) lives (2) wears

4 (1) discovered, has four seasons (2) she wanted to do
(3) belonged to

5 (1) had started—started (2) didn't—don't (3) will die—
would die

(1) 27t SOE S5 st FEH=0]| 2 20[2tn 423t
» 0] MAAIA0 B 2 48| 25 AHbe going to)E 3}
71%o] Elofo} gtk

(2) 2= S=0M= 20| 2= 440 H=Cl= A2 =
> 28 IAARI A F480] vhgo] AuAe
2 @) AR 2k

(3) oif OFR= T A E LOAHX| R3U=X] O &3UCE
> FR WA ol Aol FHAE WAUR AR
e,

(4) T TU7H R0 FHAIZIRHE S 7 ofict,
> FARG WA Pold Aol R FHAE WAUR AR
s,

(5) 252 APt (AL YHE O] Bctr 2=C
> 3 AAZE Bl ARl AHLE UehfEE A4 A
Az

(6) 25 2= 717} 19574400 CHRTIROIA SHEICHS 21 b
it
> SAbE AL B 3 AR ik

s

—
—
=

2= UMM 7+ LBt 2]0] 5i2k= AS BRI
 SFeFAQ) AL SAF B AR
() 1SS WARE APIA AfO| LHYCH= 22 B3k
> SAFE AL G4 A AR e,
(1) A B2 01 ofc] Aot
B: 2Ii0] QL= pi2iel 20 dickn S2l0i2.
> ANFER) AP A WA AR ot

A
)

(@) A: XM 3ol A= F+F0R?

Chapter o7

4 (1) > T ALLE

2

Ol

B: June Z24|. ZIFS0| L7t S HE2 RS A=Ctn 3
> ARO) L A WA AR ek

3
in

A AR 2

(2) » 1197} & s}ar A-2-x): what she wants to do
FHo] Iprjo|ng FLHAE IAA|AR 21t

@) » 70| Ao|nE FEHAE WA R e,

(1) 2S2 &2| =7} 190301 L= XtSKt ZIAME AIRBRICH T &

(2) 22Dt B DIAIK| YCHs 28 LSt0iR?
> 35 LS A A AR 0.

(6) 1 =012 FS7p SafsiC,
» o] Aol 2 F&H ) 2EANWIl)E BA AAIZ 2ok

p.109

Check Up

1

(1) was (2) told him (that) she lived, then (3) told him (that)
she had lived there (4) asked him what kind of music he
liked (5) asked him ifwhether) he had ever heard (6) told
(asked) him to write her

(1) were (2) had bought (3) asked

(1) advised, not to (2) where she had been (3) (that) he
would go to school

(1) her the children—her iftwhether] the children (2) has
lost—had lost (3) tomorrow—the next(following) day

0]l Aot (3) 20092 E 07|

N E=I=1
Fo| S22 2018l (5) Tofl Bt= 2AS

o2
fjo

el

June
» Juneo] Ronoj|A &t Wo|m2 & 717} she(her), he(him)© = 1}
ek oja el 221 AlAl= AAolAR AE e ui= 2A9] &
ojHg Mg FALE WA AAR sl st WEE A S
o] AA o]l wheo] TAY BAYREZ BhTh (1)~(3) FAZo|=
2 Y FA= told2 Bt} Juneo] Wk W8 o] thats ¥
+=t}. 5A} now, here= then, there® B}ECE (4), (5) &J&EF0]
B2 A SAHE asked & HHET (4)= Q2APE Qo B & June
o] Uk U-§-2 TR AN o} ) +70 +5AL2] AR 21,
(5)= QEAPL glon 2 iffwhethen)S Wil Wol= AJ o] HR
B I RS B Aol 2 AR R vk (6) 5T
ZolB & A FA= toldlasked) 2 v}LaL, Juneo] 'k W82
oA} ek,

o
e

() A: BX[Z B7} 42 HIWS.
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(2) A: Brad7} Of3Ugt0l| HafsiA Ri2in HolR?

B: ZREIS M MCHD T30l
> A SAPE A AAIRQME T o E WA dojid dojn g
IR AA7F Lt

(3) A: 50| Li7} O EA| Fojofl SEIHEXIE UL,
B: Zojoi| SE3H01R?
> OJR5-2 B HHF S0 B2 HEHEAH= asked7} Sk
(1) » Za138}t}: advise, E7|5}t}: give up,
~}A] Hekal: not to ~
(2) » oltjol|l ZEQILk: where have you been, Toj| A EgloH g
she, S|APF 910 11 2 M| AL+ F-0] + FARS| SA2 27,
A AP A AAIRIE 22 o7 o] ARt Higt ARolng
3719k A|A Aok g,

@) » AL AP} DAo|n 2 uje) 25A} wille] 3A4& would
£ Mok gith

(1) 0| ofoIS 0] TE|oIM EHLBEXIS SAUC
> oA Gl oS HFHe o|u R iffwhethen) S g
Stz W8 soll 'gojof ik

(2) 2= QHAS Yot LRCY,
> A SAPE A ARl aufjEo) HA dojup dojug
TALE AA|= Mo gt

(3) 2= 20l IS0| TS BB UFCt
» 28l ol A= tomorrow S 24| 9=t

I Practice Test p.110l
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1 (1) have (2) was (3) is (4) causes (5) was (6) is (7) do, do

2 (1) is (2) had passed (3) to lose

3MOER@EB) @@ @

4 (1) he had (2) is (3) where her car keys were (4) Most, has
melted
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> E4L of Fl9] WA S FAL] 58 X

(4) THEAOIM Alz A2 72| 5 AEY|AE Zefdict
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(7) HE8t AIHE0| 5t 248 B IS 52t
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0] AL BA T B AlAI2t B A1) 5 o
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A gy,
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(1) » A2 FAVE Frlo] B2 Ag G 3 A7} e o
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(1) @ a7 M gl 2E MI2tA TR ofF2UC
» every ~+= T F 3ttt she tried on sunglassesE It
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@ 22|z I M7t M-S EDIE HIRIC
@ 4= HHo| Chst 28t = R0t LStk

(2) ® NZoll= AFRE0| X727t HH-otctn ZACE
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» WS s Asket Zo|m 2 fill -to fill
(3) @ Lt= SA7t Hals F7H S0t M0 Zick
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of AAg HUX Aol ofyB g e} Eojof gt
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(1) @ H2 S0 EOME M= AS 02 YSICh
®© 1 WA Y= sl = TR 30F0|C
» @ Fof of students7} ¢l oFol] HATAL A7} Qo =g
lot, number:= % A9k half= ¢t ok half7} 22jd A (half
of ~)7} efe} The (half of ~)7} Eojof it © Fof of
students7} QJ=d|, AP} isE ©@4go| 22 numberyt E
th. "a number Of(“‘°)+%¢ A B4Y SAME FHska,
"the number of(~9] 49+ 4= WAk = w4 FAFS H3le.

(2) @ a7t LIoiA 25 SO{EHX| Y2t Lict
© 11 FXh= OfLhol|l A I S mIRX| fUCtn LHCt
> @ WL SR Aa o] Y FA told,
asked ® FAES 7HH3PH 0 2 e wjo] Mg FA told,
said

(3) ® 2=0| 2 A=RIX| L= BECE
® A2 ofRIE F5 2 Tt % 2o} =oi2.
© 1 L2212 1 FH0| A=3=X| S0{ENCL
> @ FHol HAPES o]I1= &AL if(whether) ® as if(w}
A ~AR) S i © oAl Gl SRR IS o & X3e
2] <AL if(whether)

I Grammar ® Reading p.112l
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1 said to his wife, “What would you like for your birthday?”
2 told him not to stop 3 (A) pollutes (B) are
4 (A) knows (B)comes 5 @ 6 @ swallowed—swallow

7 ® mean—means 8 @ turn, ® carry
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I Grammar ® Writing p.114l

1 (1) the rich were happy (2) | couldn’t accept your invitation
(3) where she had gone (4) he had met a lot of great
musicians (5) you would do well on the exam (6) | was
going to enjoy it

2 (1) was, there (2) when | was (3) told, to go to her (4) says
that he has made (5) iftwhether), had talked (6) not to
forget my

3 (1) asked my brother what he was going to do



(2) Listening to a long lecture is (3) there’s no smoke » Ag FAPE Aol B2 A &Y A= I ETk

(4) can peck twenty times a second (5) LH 1527t LIoll7Al RonO| Harryof| 7] 24E AU =X| SULCE
4 (1) He said that he didn't want to eat alone. (2) One of my > AL Gl RS 3hy HEst Aojm & iftwhether)7}
favorite musicals is Aida. (3) | thought that she would help So17tok 3L, A FAPE TARIE] A W82 1 o]l R E
i At AR7IAE] Zol B2 BALRE AAIZ sof 3ith
5 (1) My teacher advised me to cut down on blogging stuff. (6) 147t LHA| R4S K| Yt LFHCE
(2) He asked me what time | had left my house. (3) Three- » o] S HFlof| A AR A 8-S Mot +toF- A
quarters of the students are against the tuition hike. AR Ve g ARE AR ool grE=ofjof gtk
(4) We learned that the September 11 attacks happened 3 MroREe 1HFHo R A Adojng AT AL
in 2001, asked, A} Qli= 20 ISP TOEAM 0 + 5
6 (1) Neither | nor anyone | know has ever been to Africa. ALE] f2Al0] AL, TR ALE g Rte] Afof Bis=ofof gt
(2) The teacher taught us (that) every sentence ends with (@) » listeningo] AA|E|Q OB Z EA} Z2o|E ALLoIc) B
a period. (3) | asked him ifwhether) he could say it one A} Z0]= thes Hgsic),
TSI IS (8) » & (There’s no smoke without fire.)-2 HAF SR AJA| 2
2t}
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> o] T Ao LR FEAE 2EAL] B AAE A U
o} B}, 5 (1) » ~3}2kar 233ck: advised to ~
(3) O} 1147} ofC|2 Zt=X| B2C}, (2) » TZAKERE 0f) + 520 +FAL =40tk
> F780] TP AR F4780] 8-S 1 o] Ho] Aoft A (3) » ~of WFehsteE: are against

oI AR A ok e (@ » 2= VEICH+ 11 27k 2001500 Lofle, o3al A

(4) 17} B2 Q|THEt SIS S DHIQICHT SHAIBLCY, Alo|BE SO AIAHet 44 Yol Yot 3t 1A A
» FA0] IA AIAQIE] F44 2] 8- 11 o]HEE Wt Al AE =
AT A= o] B & IALE AJAE Aok gtk 6 (1) »neither A nor B J15o]m & Bol| SAke] 42 olx|A|#Hok
(5) P2 U7} AR B 2 Z0j2tm Yisck ehed, [knowss anyone fiwf =55 anyoneo] gk 5
> 240] T Ao B2 BEAE 2EA) I A4S A o T8 S has beeno] 278 Al 5‘*"“*
o gitt (2) » T390 Ygo] UNERI Ao B2 HA AIAE
(6) 821201 3718 Aol (3) > SRA gl R RS 77 BP0 2 ek Rolnz
ZZo] 17| AAo|E R L&A beEAle] WA AR A o A= asked, AEdt= W8 ool if(whether) & Y=tk
o

2 (1) 2= 22000 #4717t S XR5ICtT 2L,
e s et ab ﬁ
o)A here= there2 H}HC}. Actual Test P16
(2) L= LA IR 2 ALED(RIE Lk 29,

s A AP} Boln 2 ALk eE AR Bk, AR 1@ 2® 3has 4@ 50 6@ 7@ 80

A} ol ghaeofof gtk oAl Gl it 7Hs) 9 as well as you speaks 10 the cat nor the dogs are
W& oA+ 200 + FAL S =Aloth 1M1® 12 0@

(3) T2 OFHX|7} ZLs{oi|A| o] Bto 2 7fatm 3iCt, 13 told his passengers to move back and sit down 14 ®
» Lo Bh Mo A A EAE ell2, Agshs g 156 16 2@ 17 ® 18 was—were
& toF- AR L ERHTE, 19 Mom told me to get up early.

(4) 257t 27t A™S HRUCtD sttt 20 He asked her when her birthday was.
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1 I50|5te2 AAR &&= XIE =0 Z3Ct
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